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EAMCET GRAND TEST (MEDICAL)

Thequestions of thispaper were set by Senior Faculty M ember s of

Sri Chaitanya EAM CET Coaching Centre, Vijayawada.
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| INSTRUCTIONS TO CANDIDATES '

This paper contains 40 questions each, from Botany, Zoology, Physics and
Chemistry.

Each of the 160 questions carries one mark. No negative‘marking for wrong
answers.

Maximum trying allowed is 3 hours (180 minuites)

Use Ball - Point Pen while entering the Hall -“Ficket Number and filling in Part -
A of the First page.

Use H.B. Pencil only to darken thecircle on OMR Answer Sheet.
Over - writing or blackening of mere than one circle will not count for marks.

If you wish to change yourianswer, erase the already darkened circle completely
and then darken the appropriate circle.

Candidates are prohibited from carrying any sheet of paper to the Examination
Hall except the Hall - Ticket.

Do any reugh’/ scratch work on the Test Paper itself.

Calculators, watches with calculators, pagers & cellular phones will not be allowed
into the Examination Hall.

Candidates have to write suitable answers on the Answer Sheet only.

Candidates have to return the Answer Sheets and the Question Papers at the
time of leaving the Examination Hall.

Candidates can leave the Examination Hall only in the last half - an hour
before the close of the Test.

Total number of pages of the Test is 49.
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BOTANY
Study the following lists & (808 rdarod e¢§ahdo Jasnun
List-1 edae- 1 List - 1I eedae- 11
A) C.GK Ramanujam I) Father of Biology
C.G.Koodeoo BI3P DS
B) White II) Sexual reproduction in plants
3¢5 Sn¥es® Soh (Hags)d
C) Aristotle I1T) Palynology
©dPBS $oeKBen FZo
D) Camerarius IV) Father of Botany
S°F0BAHD HEFTY 2
V) Organ culture
€505 :5665) So

Identify the correct match DDS BBy M8 0SHdw
A B C D A B CuD

H 1m v v 1 2 vV 1II A HI

3) V. II 1 II 4 1 VoI II

Identify the incorrect statement among the following
& (Bod S° 5850 g $o8oSod
1) Vernalization in Daucus carota takes place after prolonged exposure to cold temperature of winter
&R 86%rst Sgydseeo S8 ©RSEGED MHTS BoXE ITRAS 2orHEH0b
2) Orobanche grows as parasite on the'genus of Maryland mammoth variety
£.8a708 05358 HOPoE SHEGE ) EOAD (Herd8 TohS Fn8) DHTEIT 1HHE0d.
3) Striga grows on a plant fromwhich zeatin was isolated by Miller and Letham
098, D 0% THHEETEIDH D FwE) Hod ([{Erowrs® & Ing)R (oo HEHE0E.
4) Inradishroot, the addition of cytokinins results in increase in size due to cell elongation
BT Barto Weungon J6s° SmarsiBo wdh, 3 H05TEE® HhIHEHOE

In which of thefollowing plants, the vegetative parts are not modified into specialized
structures ?

8 Bod a3’ O BnHSED a8 Frrren (HEE doyereorr Srdrodso BoEH ?
1) Pistia QAL 2) Eichhornia 8°8)ar
3) Artabotrys @%25‘9@3 Q 4) Casuarina SPerBaP

Identify the plant having deciduous stipules and gynoecium with free carpels
oOEDo B’J[;éo“g)a*;)e)o 0B a’g)a’moés edodnE Jodgren e o8 go &) SnE)%
928055

1) Lathyrus ePOER 2) Michelia DPOHe

3) Ipomoea bviovlewesd 4) Smilax 72@%
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Study the following lists & (808 aprderod egsado 30%08
List-1 eeder- | List- 11 erdee - 11
A) Special type of inflorescence with bisexual, I) Heliotropium
chlamydeous flowers
BID0KE, JOBEBNE HAYOE® ErES (HEK SOBee5ED 0% 5o
BEFIS DR{YAI°gH0
B) Special type of inflorescence with unisexual, Il) Ficus
sessile flowers
DEDOKE, HosEI~E o“g)a‘“)oﬁs ErEDS @’Jééé PE0
BEI DFAJ°go
C) Special type of inflorescence with unisexual, IIT) Sphaeranthus
pedicellate flowers
DEDoKE, HodKIrE HANOE® Er8I (1858 3yorogS
BEPIS H{II§d0
D) Cymose inflorescence which resembles simple IV) Poinsettia
raceme
(3%’))1’:6?3 ©3)& Kg)&’g&)av?g@@& OS5 V38 3°on5?oég ase
HFDTeg00 V) Leucas SR
Identify the correct match 0DS Br8Ye M98 0Sodw
A B C D A B C.D
Hn v 1 1Iv I 2y I 1m g v
3) oI I o 1 4 VvV 1 I I

There are two types of small, sessile flowers in an inflorescence. Those flowers are arranged
in centripetal manner. Sepals are reduced to hair-like structures. Which pair of the following
characters are NOT found in such flowers ?

ol Kg)a’:ggbmgéoeb's BoH Bsre DX, H)0s5°8 DaP)eOINoW, & HalR)eo BolgrdJBorre e50d
a0, SESSEce §B0D B0 I8 eamow. ewdol HIFEE BHS HEYS) D =8
oferen EADoTR ?

I) Cypsela fruit JBPeR Yoo IT) Axile placentation ogf eo&zgS0
I1I) Superior ovary %sgs ©OGPI A0

IV) Syngenesious androecium Soei 858 Soosng SIS0

DI &I )&l )1&II HIOI &IV

Which typeof cell division occurs initially in the functional megaspore in angiosperms ?
o)3daredt Basrd)E irodgdatng® (FBogos® D EEHI Lndas athrhd ?
1) Somatic division followed by cytoplasmic division immediately
088 Dfesd $50580D Boedd éa@@ﬁzé?g FAEVESIN
2) Reduction division followed by cytoplasmic division
Eo88es Dl $20080D) éaa@ﬁséé Q&fesd
3) Reduction division without cytoplasmic division
éw@ﬁéé Defesd B oHB8es Diesd
4) Equational division without cytoplasmic division
ésa@ﬁéé Dfesd BY DHoBrHE DefesS
Dehiscence occurs along both dorsal and ventral sutures in which of the following types of
fruits ?
& (Bod Sro Hered® IDd%Hod R HoBAS» eS8 Seros® D)o adorbdod ?

I) Legume BIATPEE Heo IT) Septicidal capsule  $5é& Joe8E RS
III) Septifragal capsule  $&5 &8 %% IV) Loculicidal capsule Sgzsdords #5088
DI&IV )1 & 11 &IV 41T & 111
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Which is showing correct descending order based on the number of cohorts ?
§585 0 Sogg 0 B IS 05855 EIrY) SR ?
1) Thalamiflorae, Calyciflorae, Disciflorae, Inferae
BerED, SORPET, &P, aSIO
2) Heteromerae, Inferae, Disciflorae, Calyciflorae
B8°0°0, 830, ARET, 5°ORPTD
3) Bicarpellatae, Disciflorae, Heteromerae, Calyciflorae
B8, HT, eSS0, SPOVED
4) Heteromerae, Bicarpellatae, Calyciflorae, Thalamiflorae
880, BSe0YBE, SPOREET, HerPo
Identify the family which contains flowers with free and united parts among the outer four
successive whorls in different genera
Kg)a’%)oeSS JNDO ol Irenid ed|seas Sodsreetd grmren ARY @’Jas”éoe)é)'s elodsnE ore
B35 HodsnEormr EDARSLOE Ztnoaod ?
1) Malvaceae SBR 2) Fabaceae SRED
3) Solanaceae oI 4) Liliaceae OOGHD
Oil is obtainted from the seeds of this plant is used in the preparation.of medicines
& 0¥ IEIro 08 0§od IrIH Hoe S5rES® ¢HI@BFAWRE
1) Gossypium PSH2aHS 2) Derris 3BR
3) Trigonella @’fi’sﬁ’@: 4) Withania Bt
Which of the following are involved in the synthesis.of bio-membranes ?
& (8od °dS° #5Egare Soghm aHodd FPEBIP0BH DD ?
I) Smooth endoplasmic reticulum oo @Oéé&’) B3gere0

IT) Ribosomes Bt Smen

IIT) Peroxysomes 'zbc"%)és:ﬁaoe:o IV) Plastids a2

1)I & T only [ & 11 (D 2) L 1L III only L, 11, T Soo(@3
3) I & [l only 11 & 111 S8 4) L IL 1L IV L IL, 111, IV

Arrange the following in ascending oerder based on their number
& (800 a°AJ a3 Roggeregriorr 88 5een|Ehos® o8yl
A) Number of bivalents in.the meiocyte of Pisum

284 DBr PSS @aBotwe Sogy
B) Number of chromosomes at each pole in anaphase - I of meiocyte in Zeamays

Basr Fref PBPPESHD SossI-18°5 (18 GyNo B &) (EBrstSne Sogyg
C) Number.of chromosomes in the meiocyte of Allium cepa at anaphase-I

BOANORD S WBr PSS SodEE-16° (E 3 Sne Sogg
D) Number of chromosomes in the meiocyte of Happlopappus gracilis at anaphase-11

SELELE (TPROFEE MBS SI383-1I65 E°3ratSne Sogyg
)A,C,B,D 2)A.D,C,B 3)A,D,B,C 4)C,B,D.A
Assertion (A) : The sequence of nucleotides on m-RNA is complementary to the sequence

of nucleotides on the DNA template
QB yBa°E50(A) : m-RNA &t 63) SrEBrBEo K5 EH0, DNA Sedsesos® &l
Sr8 BrB & SEIESrIS JordSonc &otnod
Reason (R) : m-RNA is synthesized from one strand of DNA, which acts as code copy
S H(R) : DNA 6% 50885 8o 10 B a8 853 3000 m-RNA 688 e:&od.
1) Both A and R are correct. R is the correct explanation of A.
A 08050 R3BID, R eoodd A I8 D58es
2) Both Aand R are correct. R is not the correct explanation of A.
A 08050 REBID, R 056 A B3 Hd8es 52t

3) Aistrue, but R is false Ay, 20 R eio“az)l 4) Aiis false, but R is true A&5Hp,5°0 Ry
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Study the following table & (80D HGEH exgigaioso 30%08
Tissue Structural character Function
Bearoo Qoes o0 A
I) Collenchyma Cell walls with more amount of water | Photosynthesis in young
stems
Kn(;oémémes*’oo 008 D3 Z9AS éméoc;vegen 88 scomrod® & 6&;&326?3
JSo@Bis(8o%
II) Parenchyma Dense cytoplasm Storage of food
o8 eeroo AER Sea(Bg0 e5%0°) X)qs3<ﬁo€$o
III) Sclerenchyma Suberised cell walls Mechanical support
)& Sevese00 Koed& 050 EeaBomgen ASo|8E esgrso
IV) Digestive glands | Abundant proteins in cytoplasm Digestion of proteins
48 (fogoen Se(EB508° ©pE Sngost DSy @855 #80 Baswe
Identify the correct combinations $BS HE¥DoH KB oSS
Hi&ll )M &1 1&IV 4)L& 1

Assertion (A) : Epidermis of dicot root is made up of cutinised cells
D@)BarE50(A) : &sdg’g)a 3% BoE) erSgso S5 S A Eerod PEYE Goenod

Reason (R) : Exodermis provides protection to the innerparts of root, when epidermis is
lacking
'Sos°éoa’p)(R) : SGst aa°$°§z‘56&o 3260“30)3650, 231’&’558?36656&0 S50 grre® B ANod

1) Both A and R are correct. R is the correct explanation6f/A.
A 58050 R8I, R 9058 A $85 Dd8es
2) Both A and R are correct. R is not the correct'explanation of A.
A 080im REBID, R 0odd A $BS DH5Ges 52
3) Aistrue, but R is false Aey, 0 R 80y 4) Aisfalse, but R is true
A 859,520 Reasy

The correct sequence of tissues in adicot stem after secondary growth
AN PG 2BAS S8a°8 &‘Sdé’g)aa 5°0£08° 500 Snod Smarere KBS SBoD (EH ?
1) Phellogen, primary cortexs secondary cortex, cork
33@‘;@5, (EPEE Sepeio; &(Sééo‘ﬁa Sepeo, Bot
2) Cork, primary coftex, secondary cortex, phellogen
Botd, [PEE Heeo, &(Sééo‘ﬁa Sepeo, 33@‘;&5
3) Primary certex, secondary cortex, phellogen, cork
(P E D)0, &559053 S0, ?p@f@g, Bod
4) Secondry cortex, cork, phellogen, primary cortex
65(5@05) Sepeo, Bok, 33@‘;@5, [@PEnE Sepwo

Which of the following is subjected to dryness externally only ?

& (0B St ePSegore Sr@ D wergrards Kodéo?g SnE) 28 ?

1) Aloe e’ 2) Zizyphus Be3HR
3) Tribulus (SBeased 4) Casuarina SPeB°
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The following facts were observed in an experiment on peas. The grey colour seed is
dominant over white colour seed. ‘G’ is used for grey and ‘g’ for white seeds. Study the
folowing table and identify the correct combinations

D& SuKOP 2O VoBBm HIBrre Tgoe ardd o o JElo adrgd oEad,
8eny) Boih Heo dESo @oétgé 000 8ddob. ©on3S® & Bod K:egééo @65§d0:60 32
KBS Eriod H80ohdn (KrSS 1 ‘G’ & ard s oih®), ‘g’ S Ben) BoiHd &H@rHoTD)

Phenotypes of parents Genotypes of parents Phenotypic ratio of the progeny
adHeo &)IgBraren adHe adgdraeen D088 &)IBrd A
I) Grey x White Gg x gg 1:1
2l X e
I) Grey x Grey Gg x Gg 3:1
aPlE X &8
IIT) White x White gg x Gg All white
B X Bend) el Bes:)
IV) Grey x Grey Gg x GG All grey
@8 X el @?3& avlata]
1)Iand IT only [ 50805 11 $oo(8855 2)Iand IV only I 50805 IV L850
3)L, ITand IV only I, 1T £08c%0 IV Soos 4) L IL L TV,

An organism in which one bivalent is missing, when compared.to a normal diploid organism is
called
28 JogeSe CS‘S(ﬁo%é’Bé 2285 ey, a8 B80S &*20D5 LI DO Dewdedd ?

1) Monosomic SRS 2) Disomic JaERans
3) Nullisomic $OFPWE 4) Amphidiploid 0% tohRB%o
Study the following lists & (80d wrdered egiahso 3aod

List - 1 edae- | List - IT eedae- 11
A) Spermatozoids of Pteris I) Zoidogamy

B - Sod Hhdderes e &S
B) Spermatozoids of Cycas II) Malic acid

PES - Sod HHR Deren S0 eo
C) Spermatozoidsof Funaria IIT) Oogamy

BPoatr - e Hhidaren ©oBodriio
D) Aplano gametes of Spirogyra IV) Sucrose

2)5%h0e. Do SoBreirideren HE%E

= V) Physiological anisogamy

BSrd)s ol SoS&riio
Find out the correct match %88 £f80Hd B0k
A B C D A B C D
) 1 vV IV 1 2 1m o v v
3) I v IV 1 4 1 1 vV Vv
> 6 <
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Assertion (A) : Life cycle of Funaria is called diplohaplontic life cycle

DBETE50(A) 1 HgP8asr EASS(S°R) EaR EYHBE £D8 S(Bo ©0érdd

Reason (R) : In Funaria, there is alternation of haploid gametophyte and diploid
sporophyte and they act as parents to one another

HPHR)  : HRoaps® HEJBE Sod@rridests S0 BIEHRBE vDests SIen DseodBore

&0eron B BTEIEES adHenrr SIBJcow.
1) Both A and R are correct. R is the correct explanation of A.
A $580%0 RXBID, R 9058 A $85 DS8es
2) Both A and R are correct. R is not the correct explanation of A.
A 06 R$359, R 0556 AH 8535 9560 5%
3) Aistrue, but R is false Aesy, 20 R &5y
4) Ais false, but R is true A 859,50 R a5y

Spirogyra filament does NOT differ from Rhizopus hypha in
BEH0 B0 0l D)6°H00 So&HhH & of@mos® Yo o

1) Unbranched nature

2) Presence of haploid nuclei
3) Presence of chloroplasts
4) Presence of pyrenoids

TFPEErS AEPH0
bé*{g@é Zo|tSseenothe
PBSVES) e00ed
207P00G enotadd

Assertion (A) : Viruses can cause diseases and can«wundergo replication when they are
inside the host

Q@)BI*E50(A) : =d3ows® eddpe 38Ten ENASTIRSY Kenrf3eom. S00a5» (£8%)8 Jothzeow

Reason (R) : Viruses can not undergo replication out side the host, but they remain alive

w&H(R) : s8Fond Do SJIPeHd B/ (8K 3088%. 570 £Dod Goérow

1) Both A and R are correct. R is the correct explanation of A.
A %080iw R3BID, R 00058 A 8885, d8e

2) Both A and R are correct. R is not the correct explanation of A.
A 80im REBID, R 0odd A $BIS Dd8es 590

3) Aistrue, but R is false AlSSp, & R 85y

4) Ais false, but R is true AP, 50 R sy

Study the following lists

& (800 ardErod e¢saso S0%08

List-T zd8am-1 List - 11 ardae- 11

A) Aflagellate I) Single spherical bacterium
S 53080 2,008 ffgrsed ardBdhHo

B) Rod shaped II) Pneumonia causing bacterium
Someseso SogBeArS> DA aJ°§,a B35S

C) Pairs of Bacterial cells
eséfenrr wéboﬁoﬁo Kegeen
D) Comma shaped

seloe eaée)@

Identify the correct match

III) Anthrax causing bacterium
so|g°E)% ¥dA0 w%bdsﬁo

IV) Cholera causing bacterium
Soor 0A0E ardBdh

V) Pleomorphic bacterium
DIVEFSHE e

303 S°& oD oS

A B C D A B C D
I I o m v 2y V. IV 1 I
3) 1 ur 1m Iv 4 VvV 1 I v
> 7 <
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What are the plants with highly reduced archegonia ?
aere §8095 8)FAchSIOH EOAS InKeo A ?

1) Primitive archegoniates w05 @B)PATSen

2) Highly evolved non-flowering plants 0508 H0d BoHI YOI IwB)en
3) Primitive cryptogams 0% (B8Fmrden

4) Primitive spermatophytes B B peSen

Matric potential always has negative value because

SBE K)o Jend JQAPET aneeEonr Gotnod. SPEe0

1) Matric factors increase free energy of water molecules
Le(@8 sedre So A& wende fo‘gagjéé orHE

2) Water potential becomes less negative due to more hydrophilic colloids
2000 Seponfen LN GotHe Hg I K0 BE)D en0er BP0

3) Matric factors decrease the total number of freely available water molecules
(@8 seSEre HY ?o&ﬁzyw &0% OB wenHo éospé é?ﬁgéao&

4) Matric factors increase chemical potential
(8 sedsren SRS Fo9d) Doheron

Which of the following show effect on metabolism of plants and thére by reduce the rate of
transpiration ?
& (800 TS S° I InK)e BB P Hyraed) Srdod), EoEe wrAHB)E IR SAJeon ?

I) PMA 1) ABA 1) Asprin oS IV) DCMU
1) 1& IV only [& IV &r$3 2) L&V only 1M1 & IV &8
I &I HIL HL& TV

What is the mechanism by which the salt resistant plants can get rid off the excessive Na‘tions
to outside through their roots ?
od5 (H8EE 30K’ ©hEIS Naledsrydh ¢ oxoe ached How dro@so Jb ?

1) H" — ATP ase uniport mechanism H" — ATP Gb& cirdr§ airol@8o
2)Na"—H" symport mechanism Na® - H" 2028 airo@so

3) H" — CI~ symport mechanism H"— CI” 208#§ asro(@%o

4)Na" —H" antiport mechanism Na"—H" eo85§ oiro@%0

4000 molecules of a substrate are taken in a test tube. The corresponding enzyme molecules
having turn over numbéer as 20 are added and kept like that for 10 minutes. 40% of the
substrate molecules are found unchanged as products. Then, find out how many enzyme
molecules participated in the reaction ?

a8 sﬁéé S*286% 1000 edéaﬁmg ENNOD 60D, T°N8 J0D0HOAI Vo BeHOH (&
DoF Do @55&665 Sogg 20) 369, 109 Féxn &odS, 40% @Cﬁé a’amg ©50)en sﬁég
FRES G e SrEKore eXRond, P SE5E° A) Jo0FH emHes S Ton ?

1) 400 2)72 3)24 4)12

Main understanding that came out of Hill reaction
265 BEE $020H0DS Sngy OBPSIS 0 ?
1) Occurrence of two photosystems Both 5708 HgiKenotiero
2) Oxygen s released from water in light phase 5008 $5;6° O&8 o0& ©8yaS DbotedHBob
3) Hydrogen donor in sulphur bacteria is H,S B w%@dﬁw@‘s H,S r&fas oo
4) Rate of photosynthesis is maximum in red light
QB Borh oSt E8eresigdoTriEcs fefel KOROM™ &onod

> 8 <
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Assertion (A) : Photorespiration becomes an obstruction to CO, fixation in C3 plants
5708 FHIBaH ©3IH C, SnEos® co, 3@%"326&) e&oore Sr8&od

Reason (R) : Photorespiration protects the C, plants from a lethal effect called photo
oxidation
C, 300 5708 e—sg(\)éémo oI HrsE 8 Dok 5708 FgHBab E§K0b
1) Both A and R are correct. R is the correct explanation of A.
A 58050 RBID, R 9058 A $85 Dd8es
2) Both A and R are correct. R is not the correct explanation of A.
A 080im REBID, R 005 A I8 Dddes 50t
3) Aistrue, but R is false Ay, =20 R85y 4) Ais false, but Ristrue A &dp,s0 Ready

Substrate level phosphorylation does NOT occur in which of the following biochemical reaction ?
& 180D @ éa’)éb"do:ééégés o a’amg bgoao 3%3‘:)66&’15 28K ?
1) 1,3-bis phospho glyceric acid [ - 3-phosphoglyceric acid
1,3-8% @1’%3‘5“)(&&65 oo M — 3- @1’%3‘5“)(&&65 500
2) Glucose-6-phosphate [11 — Fructose-6-phosphate
?ﬁg%gé—éi—@foq)eg M - @’J%’é —6—@°§oq)e§
3) Succinly Co-A [0 - Succinic acid
2835 Co-A [ - ¥&E essho
4) Phospho enol pyruvic acid [IJ — Pyruvic acid
PGS 28OS wipo [ - PErAE @50

Some of the stages of polypeptide synthesis.are given below. t-RNA participates in which of
them ?

3"8)3)%5 $0380S° Q) Sden (808 ABASD. 3BS° t-RNAT a0 Je&0énod ?

I) Transcription o08pso

IT) Activation and transfer of amino acids oS slren 6383 26O Fahahe
IIT) Translocation :3;5"06 ot

IV) Elongation of polypéptide chain 3"8)3)’%35 fFPend & e

DL IL IV LIIL IV 2) L IL III I IL, III

3)IL L IV IL IIL, IV HIL IV IL IV

A fungusproduces a phytohormone which can cause hyper elongation. What is the asexual
stage of that fungus called ?

2% 3do|gSn @8 SE5PB PorododH N K)e)éa’ssfisés:& &) Fod. & 3dolgo B
©BoAE $IH Aordd ?

1) Rhizopus sexualis BEHR 2O

2) Fusarium moniliformae ngoaoﬁ:o @J{O@cﬁv@
3) Gibberella fujikuroi BBz F525%0

4) Phytophthora infestans Pereroe al DL

Nostoc can fix the dinitrogen in symbiotic association with
FopE & Bod 08" $5edBSo B BLPEAI FdoSesd

1) Alnus @S II) Gunnera AJoe

IIT) Anthoceros 80§ doeo IV) Casuarina Sce B0

Hi&ll )M &1 ) I&II HI&IV
> 9 <

www.eenadupratibha.net



37.

38.

39.

40.

www.eenadupratibha.net

The product, which is immediately produced after the second cross during the synthesis of
Triticum aestivum, contains

(3380 é‘sééﬁ) ErPoBoSDAS GeI0® BoESId HoBBmo 2OAS EBard IJoers NEYBS
6813w I Hod

1) 14 chromosomes, 2 genomes 14 8538t Soen, 2 £S88men
2)21 chromosomes, 3 genomes 21 852estsmen, 3 £tSnen
3) 28 chromosomes, 4 genomes 28 [852esSmen, 4 £¥S0en
4) 42 chromosomes, 6 genomes 42 85ZreBsmen, 6 £¥50en

Which of the following pairs of substances are used in tissue culture to induce shoot and root
respectively during organogenesis ?

Eeaedee) a’)gzéoeSs oSaHITE 2B hIPE Hsroko DB)EErIE 0B I IYEKErS
BBV &% (8od Hormre wdes® BV (D8wE TEe ?

1) Hydrogen peroxide and sodium hypochlorite  3r(EeS 208 & 50805 LGNS 3reDes

2) Ethylene and cytokinins 2608 8050 eBAD
3) Ethylene and abscisic acid 26OS 2oBckw WS @z
4) Cytokinins and auxins 265"y 08050 @8y

Arrange the following stages in correct sequence, which are concerned with insertion of
isolated gene into a suitable vector

DEBIS wJogHD IS FeSE0s°S @3%33§ q“wéga’messtb & (80D BIB DS SB3(EHvos®
SR lejlels
I) Protoplasmic centrifugation in sodium lauryl sulphate solution

FPEA00 0 $B)E (TDHwos® éésﬁw’g BolmeHdSen
II) Treating the bacterial cell with. EDTA

EDTA & arftcho ser) S8 8850
IIT) Cutting the plasmid with'restriction endonuclease

ORES Qo IrE Do S PED E§BoSEo
IV) Ligation of plasmidwith desired gene
5;2)&5:63, o5 doss 2d5HH Soddo
) LIL L TV ) IL LIV, I 3HILL LIV HIL LIL IV
The seed material used for mushroom production is called
HEFEIHO DODSNE SHBPN0T DEF Jeod) Doerdd ?
1) Compost B0k 2) Spawn )R
3) Hymenium TRAPAHRD 4) Basidiocarp BROEDree0)

> 10 <
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41.

42,

43.

ZOOLOGY
Assertion (A) : No two subspecies with in a given species can have exactly the same
ecological niche
2.8 2SR D BotH elardien IV &8 aerRES QD EOA ¢oED.
Reason (R) : The functional role of an organism in an ecosystem is its ecological niche
S8 5’3556‘265 g £ 28D svd?géer’éé ool a8erd38d dx
1) .Ais false, but R is true A 85p,5°0 Reasy

2) Both A and R are correct. R is not the correct explanation of A.
A 8cin REBID, R 0dd A 5835 Ddves 50t
3)Aistrue, but R is false Aeyp, 520 R &5y
4) Both A and R are correct. R is the correct explanation of A
A 080im REBID, R 9058 A% S8 Dd8es

Read the following (ol agagedd SoHdn

I) Nerveimpulses generated in a Hydra can travel in any direction through out the body.
elaes® &E)5)0M & ($SPSTren ord BFeo ome O BISTP I (HoSrBoSHeH

II) Longitudinal nervecords originated from the brain of a tapeworm are joined by
transverse commissures regularly
2GHSH DEE $08 GEHD0VS vahd & KorreEH wodstros® wi wod
Jogrohsrod Eendand Goéron.

III) Circum pharyngeal nerve ring is associated with the nervous system of both round worms

and earthworms
SOHS T8 Foohin eI MHolESPHKe HBAH TSLwer BodE T8 JHHH
K02080DI6
In the above the correct statements are P S $8BoS o5 Y0
1)Iand Il only [ S08c%0 11 Hp(Ssd 2) Il and III only 11 So8csw 1T S5
3) I and IIT only [ S08afoN I EmE$s  4)1, Il and 111 I, IT &508a50 11T
Choose the incorrect from thefollowing (0B TS $65°0 @A BV VNS

1) Sponges are exclusivelyaquatic and exclusively sessile as well
Ho@den Fromr, sedddden Hoak o ﬁszéaatg EHen Erce.
2) Spiny skinned inyertebrates are exclusively freeliving, not parasitic forms
$B)o&° SEQYEONS ©8358 diden Jrorr DgEEden, Hovd) ddes D Erwe BH
3) Invertebrates with jointed appendages constitute the largest animal phylum
&eormed® géﬁ)@ Ko 8358 Eden od "a’acg 2308 250(350& 3369653263
4) First animals with blood vascular system are the first animals with true muscles
S0 BEH0Ge e 0&iden, ez Solsoren Ko 533%33365@3 2208059He0
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Study the following (Bob A egigasoSo S oSnHD

List — I 35e38-1 List—II 38 —1I List - III 5635 — 111
A) Neomenia Internal shell Aplacophora
DBBoAAs® ®od8E8 80 Ay Yoo
B) Neometra Bifurcated arms Crinoidea
DBoolér BIEDBSNEF0P Foezen Borow&ase
C) Neoceratodus Two lungs Dipnoi
ABFDEEES Bo 6HOBB Eand
D) Neopilina Limpet like shell Monoplacophora
DBrLOT° Do DEY Hoes BB SrSPapstPso
In the above the correct combination D ST $8PBod Seond
1)A, B and C only A, B 5805 C (35 2) B and C only B 5805 Sl
3)B, C and D only B, C %805 D &g 4) B and D only B £8¢% Dvisre|gadh

Study the following features
I) Their pseudopodia contain granular and adhesive cytoplasm
8 Mgrsrorod® Beaseaind, 008 $od é:ﬁa’)mg 0 &0&00d

IT) They exhibit homaxial apolar symmetry e S35F &SRS FHaeQ) (©HESGI0m

III) They are generally planktonic forms 0 JPFELOM. HIS°en
IV) They are shelled and the shell is calcareous

©d 888 dHen HBABD B)ES0 Y GHo SPEIE VYE D0
Which of the above are true about heliozoans
P S° SOBrEbS5H% $o2050D J=FPII-2I?

1) All are true RS e 2) All except 111 [T 855y e9Qdyaso
3) All except IV IV &5y eoyos 4)yAll except 11 IT &5y ey

Assertion (A) : Deficiency of pyridoxineleads to hypochromic microcytic anaemia
205°8)S S°50(5g)3rFE0E Fo(E° 235 0dMdsr Senihdod
Reason (R) : Pyridoxine is involved in the production of antibodies
205281 B ETIsce 6888 &°K)%00
1) Both A and R are correet. ‘R is the correct explanation of A.
A080%0 R{IBID, RODID A IBS D58es
2) Both Aand R arecorrect. R is not the correct explanation of A.
A 08050 R¥BID, R 09088 A I8 Hd8es 52t
3) Aistrue, but R is false Aelp, 20 R&Jy
4) Ais false,’but R is true A 85,520 R ey

Arthrepods with paired gonopores also contain

s 68 a3 Solgrod EDABNN (E e dher EOAADOKHIH

1) Antenules Fohden 2) Gnathochilarium S&ZB85H0
3) Unpaired labium oo 5°Q egiBo 4) Genital operculum 2338 650Bw0

> 12 <
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Match the components of List I with List II and choose the correct answer
(0D FPEY 2SLED SBPoS IHrEeSHIND 98 0S05m

List—1 3¢ -1 List—IT 3¢5 — 11
A) Wharton’s Jelly p) Aggregates of cell bodies in CNS
>Y) 39 Bodhoaed ééé:gess Eead St $Hmeseo
B) Trabeculae q) No perichondrium
(&8 Zogeren 5365»9)650@% S8 oDswoe
C) Aponeurosis r) Mucous connective tissue
@S5 DS 3K SoBras wareo
D) Nuclei s) Striated voluntary muscle
Joog8 B0 Do%o(@8 BHSZoES0
E) Articular cartilage t) Spongy bone
Sobhee a’))e)CSoePR% 0)0BE A3y
A B C D E A B C D ~E
) r t S p q 2) r S t p q
3) t r S q p 4) r t p S q

An Euglena is moving forward through water with spiral/rotation around the axis of
movement and gyration on its own axis. For bringing this type of locomotion, the movement
of the flagellum would be

28 Sarfize ABSE, ol oFo Hep IO)OPSEoSH ISP MWD, wohd oFo Soey
SO WI0b. & {50 BEHEI8 oo E3°40 O EEPS EEOE s°8wo

1) Undulation from base to tip &a°g esgedo zécg 008 o(grto S 2300 S0k Sedo

2) Undulation from tip to base o(ifgris £08 Sgrs0 35 28R S8 Sedo

3) Flagellum turns like a screw &z°8j0 2202),58%:08, Seareid

4) Zig zag movement Bherh D0 DB BLOEen

Plasmotomy occurs in  3p%¢*0/ (65 8)05056

1) Plasmodium L5 B0 2) Opalina £.58e

3) Aceneta DR 4) Polystomella PO er
Read the following statements (Bod aegago SEoHSw

a) Trophozoite is large, active, motile, feeding and pathogenic.
(E5°PBeromel @RBE e $0Lrwo DA SO0, T5HSEE, MRS £D
b) Precystic form:is small, nonmotile, non feeding and non pathogenic.
@%‘Q‘@vé&cﬁ% 50 DY) HOKe0 EOA ,BOSEIrS, P BHH HOA THI DAL &3
¢) Encystment is a means to tideover unfavourable conditions
§%858m0 ©H5h (HdEre 5’36%600260 ©fE DoBers a8 Irdo
d) Modes of nuclear divisions during multiplication by the intestine dwelling trophozoites and
metacystic stages are one and the same
s0|$0s° 50T (E5°PPromeie BYEeY)B 5o HBAD e dYE o D ases®
200 éo@Sé defedSen a8 EES»
Which of the above are true about Entamoeba histolytica
2 e’ ‘Doepﬁ)owar":ggﬁ E5 020808 BB egagen

1) All are correct DI 2) All exceptd are correct  d ) edycdn
3) All except ¢ are correct ¢ &5y eycdn 4) All except b are correct b 8 edycdn

Which one of the following does not open into the ootype of tapeworm
DB DB BBS S8 JBorr BLoHE I QoReadind 0B oo

1) Vagina & 2) Uterine canal 1o dad ey
3) Oviduct & Desaodes 4) Vitelline glandduct ~ $8% (508 %o
> 13 <
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If a chick is to be predated by a snake, eagle & a cat, their Prey - Predator relation can be
descrbed as

a8 8%Q Do a¥ v, G, HY Dol EPodH 8FBEHD wIsIS0[Bpis e gy Ko
DKo @O S0

1) Gamma link SrO08 2) Beta link Her D08

3) Iota link eo@rotr O 4) Alpha link o005

In Pheretima excretory external apertures are present scattered all over the body in
208 Sooes® AJYE  arsey Solmren B5e50P dpodBes® B0 dSwotdn.
1) all the segments o) Podaren
2) all segments except clitlelar region 883erd poliaren &5 DAOS o) poderen
3) all segments except the first two segments of the pre cliltellar region

88epd rdy eri5oS® Soised Both podaeen &) HADS o) podsren
4) all segments except the spermathecal segments

BHESrEen Ko podaren ) HHDS o) poliaren

Torch light was focussed on to an earthworm which is coming out of the burrow. It retreats
back into the burrow. This activity of the earthworm is due to the reeceptors
7005 08 JenHes $:H)BK) a TBIIND 05T (59005 BHF @b BOA F°800HS IS
NP, TSTHD & STGH BBHOH SERPD ((PSseen
1) which are in large numbers on the ventro lateral sides
B0 &858 3"6?}3 arméj 08 éogpéé‘g &OEPON
2) whose cytoplasm contain network of nerve fibrillae
BeoSTrgod® Krg gl Sodbihen EON eotron
3) with sensory hair eROBPEren DA G0t
4) which cause conical elevations of cuticle Bero NGRS GEKe DE)BFeon

In cockroach a peritrophic membrane'is formed around the food as it passes through the
mesenteron. The function of peritrophic membrane is to

33°%>o§ ogrgolgo Howe e8Eo DH5H K, e55880 506:»; 20BErHE S350 DB, 1OErHE
&S0 Do) I

1) help in digestion of complexproteins o8 oy NS égzﬁwé‘s ISESTOVorSTabinS)

2) help in absorption of digested food SEF00 eBBEn ks’ DB

3) prevent reentry of foodfrom mesenteron into the gizzard

OB 228850 o0& esFBEiw Eﬁacsgo@ééﬁ:a@%% (HIBosHome ardohio

4) protect the delicate lining of mesenteron G508 Boisgo BeyBIB0Te Jee0Ho

Read the following statements (Bob gagedd SeoHdn

a) Respiratory organs of larvae and adults are different in case of mosquitoes

&850ed®, eroee B [FrEBHe FKesdharen o otk

b) Mouthparts of larvae and adults are different in case of Bombyx

arodE)S®, Gogfsre 08w FrEdHe Fgrmren o ok

¢) Both nymphs and females are econonically important in case of lac insect

eézyéeaéo BErH Fosten HBSH & fHen Bokdd Jedesg HBoMe HBFN0

d) The diploid individuals are all fertile where as haploid individuals are sterile in case of
honey bee colony

838 Ko ¥ I3 Fost BaR 8 BHoYdED HOHoEH[ sore Sé%@é BHoYdin SogsBHen

In the above the correct statements are D ST BB
1) all are correct Qa0 HBEHI 2)all exceptcandd C 08 d 853y exycso
3)all exceptaand d a Hdas» d 8% edyoso 4) all exceptd d 88) edycdn
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Observe the following (BB TPAN 53000505
1) Mandibles Seospen 2) Pre stomial teeth  Swogprdy Soscen
3) a pair of unjointed maxillary palps a8 28 Pold o8 =0ds° JyoRoren

4) Elongated galeae  °&33 NOASTen 5) Pseudotrachea DGR AIDT°FoeD
6) Dutton’s membrane £&S S50

Which of the above are the components of the mouthparts of housefly

) FASE S Sy FgrredH $o020H0DSH

1)2,3,4and 5 2,3, 4500805 5 2)1,3,5and 6 1, 3,5 0085» 6
3)3,4and 6 3, 4 3805 6 4)2,3and 5 2,3 508050 5

Identify the inverted pyramid from the following
8 [B00 7QS° olBothenie God DENED KBoSn

1) Pyramid of energy in a pond ecosystem D8y BaeiBen Eé?gzééesg 8 DBWE
2) Pyramid of numbers in a grass land ecosystem & Eard8es zégééé’s Sogrg DYDE
3) Pyramid of energy in one tree ecosystem 2.0 Dey BardSen @égéﬁ 88 DO
4) Pyramid of biomass in a pond ecosystem 8Ky BaeiBes 5&5%@8 28 DBME

Which community is established with stabilization of the environment in‘ecological succession
s eod|EHhos® Soegden JBE50 AB)ELO TXRo° 5;3)05530650 Jdores0

1) Secondary community &&c%H $mez0 2) Climaxcommunity @085 Hreo

3) Pioneer community  (@r8085 ddeezo 4) Seral community (8 Joreso

The hairy and milk producing duckbilled platypusdays.eggs and has a common aperture for
rectal,reproductive and excretory products. It suggests that
firod 59, §80 68)8 TD wrd SoEY RSUT HESD DEHH0H HBXD HOATY,
(B&58)8 BB DI ad)Tend, a8 Eolaw Mo IenHoH HoHEH0. Bd DB
3e05)008).
1) This is a connecting link between birds and mammals

2d BHOH HBH F8mres Koy Somrah DD

2) This is areptile that give rise to mammals 20 &880 ©DGDODD DOHHw
3) This is a degenerate mammal 30 ad %s%oé’):é oFered o é&%:ﬁ»

4) This is a primitive manimal retaining some of the reptilian features
86 ¥EYTFe Q) oo BOAS HoeSS §5esn

Discontinuous distribution is exhibited by QY)Y 3G (HE80Id
1) Dipnoi — Ratitae B - 038 2) Dipnoi —Anura &G ~ drgoe
3) Urodela= Anura S&rler - AXoegoe  4) Dipnoi — Eutheria wtvialesliliovotatalosty

Read.the following statements (Bod aegago S8oHSw

a) Antisterility vitamin is antioxidant ‘Doég?gb‘é)éS DD IO 083 ed)Todd
b) Antihaemarhagc vitamin is anticoagulant

Qo3 FHVRE DOMS e[S (BB Saego

¢) Deficiency of zinc in the diet causes hypogonadism and dwarfism

e58808° 808 %50 S adTrore Epd H805 HoBothapdSo H0e3D Senrbdo

d) Obesity can be controlled by reducing the intake of calories from vitamins

DT Hod 3Ty scodeHs eBtEos® SHod 825°B¢0 Bg BB0S0H0B VAH0B0SHS)

In the above the correct statements are D oS $BDRD

1)aand ¢ only a H08050 ¢ SoeBadH 2)all exceptd d 85 edyakw

3)band d only b $08c%0 d S 4)a,band conly a,b 58I ¢ Koo
> 15<
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Study the following statements (Bob aegageod eggaioso SoSnSw

a) 97 % of haemoglobin is saturated in systemic veins
B8 280’ SrIrAtAS 97% So8)BF0HS0d
b) Bohr effect is the effect of CO, on oxygen affinity of haemoglobin
$%6 OBE %50 vfjmsS S BrAEAS edwogop CO, (Hardsm
¢) Vital capacity of lungs is IRV + ERV+ TV
&3D08H o IS bvéacg?go odre IRV + ERV + TV
d) Central lobe is the common lobe in both lungs of rabbit
K)ac5§e>oé’.)§ 95058 Do %33)6863665({0 %5’&)&& ©0d¥

In the above the correct statements are 2 TS KB@od argmgen
1) all are correct Q50 HBEHED 2)b, cand d only b, ¢ 508050 d S|
3)a, cand d only a, ¢ 506ckw d &R 4)band conly b $o805n ¢ Hooad

In rabbit beginning from liver and again back to the liver after oxygenation; arrange the

following blood vessels as per the blood circulation.

%03ens® P8aHdn Hod DaHendd eséa)éﬁa’xs é§o°56 Ho8e sB80%B0S5L a’)z‘Sox) D8

(588 05580 K380 SETrgrod KBDBoS (Eos® SR leylele

1) Coeliac artery &858 gD 2) Hepatic veins sG0% dBen
3) hepatic artery sS85 50D 4) Post cayalvein ESTo PN VLR T
5) Pulmonary circulation EOFOSEeIst et

6) Left systemic arch DED_ FIeE ‘wrdo

1)246531 2)345162 3)34526 1 4)245613

Match the processes listed under column — I with the bones given in column —II. Choose the

answer which gives the correct combination

ST —1I &° as@as &daron e I B’ Ko JdwEeH =58, KBBoS Swowd

IR MIRSEN LI ALV SR g STSTe NSRS

Column-1I 288 —1 Column -11 s — 11

A) Zygomatic process Zr5me35" 080 1) Scapula oodHeso
B) Coronoid process 55&%ow& 4980 2) Ulna Sle2)}
C) Odontoid process [ &&°oérons 980 | 3)Jugal fold8
D) Olecranon process &OESS 4980 4) Dentary GSoae
E) Acromian process (8005HS 90 5) Axis oo

A B®C D E A B C D E
1) 4 3 1 5 2 2) 3 4 5 2 1
3) & 1l 2 4 3 4) 2 5 1 3 4

The functional unit of sketelal muscle fibre is formed of
®d SoXESodHe (BaSr(Harnzsn DEBBD
1) one complete A and one complete I band

a8 Boxrg A DS Kb a8 Soryg 108
2) one complete [ band and two halves of A band

2.8 H07g 158 Bahe ABE En¥) Both wfgerisne
3) one complete A bond and two halves of I band

2.8 D08 ADE D0 | $¢ @) Totb eferriwen
4) Half part of I band and half part of A band

I 586" ofarrsn 0w ABES wlarnsn

> 16 <
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A severe fall in the blood pressure disturbs the function of kidneys leading to
Bros® 555850 werr $EPSo S SrEdorre (BHS® HAFPS oo Syob.

1) Renin becomes Functionless BAS (BairB8rEo oS50

2) Increase in augmentation SROBRS DBoH®

3) Decreas in glomerular filteration rate HFreto Bew Brpe

4) Creatinin level increases in urin Sor(os® (Boiee3dS 3;033 Elelalat)

Following are the symptoms associated with the endocrine disorders in human beings
& (B0 Ko ao5h oFsren S80S’ ©od|JeE @K)?Sa’)‘(ge)éa L00H0AIB

A) Groans, Moans, Bones, stones ('S, 3o, &), B
B) Polyurea, polyphagia, polydisphia FDASBAP, PO HBAP, FOEY)A0
C) Moonface, Buffalohump, pendular abdomen %0lE8 Sogo, HrQ, Seod o
Identify A, B, C basing on the above A, B, C oo 805050
1) A) Hypoparathyroidism 2) A) Hyper parathyroidism
TSP FTPETRPon &S0 D8 Frorgorondeo
B) Diabetes insipidus B) Diabetes insipidus
ErBERD a)DED ErBER aPDER
C) Addison’s disease C) Cushing’sisyfidrome
AEIR) T8 B30h &6
3) A) Hyperparathyrodisim 4) A) Hyperparathyrodisim
°H8 Foegorandeo Fa v erlaleploat- N
B) Diabetes mellitus B) Diabetes mellitus
EArBED YLD ESrBED YD
C) Addison’s disease C) Cushing’s syndrome
NI 560 %20h 58

Assertion (A) : Placenta in rabbit ishaemoendothelial type
HoBen 20°dSDE SPSEI0EEHOHS 5B
Reason (R) : Inrabbit the placenta is formed due to attachment of foetal allanto chorionic
villi with maternal endometrium
%08end® #oPa50S), DoXo HTPAND) S5 oo HHod 56“)&26 SeRseen
&9 Bondoh Hegds o$8%)5E0 S D8)KS08.
1) Both A and R arecorreet. R is the correct explanation of A.
A 58050 R {0880, R 9058 A% 885 DS8es
2) Both A and R arecorrect. R is not the correct explanation of A.
A0k REBID, R 0o A 3B Dddes 50t
3) Aistrue, but R is false Ay, 20 R&Jp 4)Aisfalse,butRistrue A &5p,sd Ready

Which one of the following is the correct expression of plasma compatability in the ABO
system of blood groups.
&(80d 3°06° ABO 8% (e @) ) eiksEs $op0f0d S8 grdsd Hiocham

VAN SN TN / ™\
A B A B A B A B
1)\0/ 2)\8/ PN 4)\/
A O AB
Identify the set of purely motor cranial nerves of rabbit

0B’ o srol JErdsn Ko Salo e $HBoSd
1)L V, VII, X )ILIV, V,VILXIIT 3)ILIIL IV, VL, X 4) IIL, IV, VI, X1, XII
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Which of the following character in Drosophila is expressed in heterozygous condition in
females and hemizygous condition in males

G ers® HHAEHes® o dSnifes %865260, & 2Hes® DiSodswifes %@65:63 DG EHoid
oF 0 K08 osdn

1) Wild bristles 53568 88simen 2) Red eye color B 8Ly

3) Bobbed bristles OISy &8Sooen 4) White eye color By 88y

SCID is due to mutation in the gene that encodes
Bod oSt TR X)é%o?:’; 233053 GEBIES SIS SCID Senitod

1) Adenosine deaminase J&ESFRHE BeododE 2) Dehydrogenase Eor eSS

3) Dystrophin BB 4)Lipo protein lipase =~ 8&% (@3S Sof
Study the following (Bob A egigasoSo S oSnSHw

a) Kuffer cells EH6 Eegren b) Osteoblasts 38 Boeeyee0
¢) Histiocytes SPYBr R d) Mast cells S Seten

€) Monocytes S5 en

Which of the above are macrophages D QS K»Qve)e;f g8 Zeoen

1)a, b, conly 2)b,c,dand e 3)a,c,dand e 4)a,c, only

Assertion (A) : Natural selection is the outcome of differences.in survival and reproduction
among individuals that show variation in/one or more traits
@/Jée)@ 5880 05036 288 Soe @od Ko ‘Déo&a’) &:6)?3 eé&wé‘ §&)C§§o fo15)
BHo BwE) BorrgE OB (HS5E)B dGo Jgavgro HOSHD
Reason (R) : Darwin's natural selection explains the origin of the fittest
GBI B ($5)BISedw Briifire HensH 0808
1) Both A and R are correct. R is the correct explanation of A.
A8d5m R8BI, R eoodd A $88, J8ddes
2) Both Aand R are correct. R is not the correct explanation of A.
A 08050 REBID, R 90dodd A 8BS HS8es 50t
3) Aistrue, but R is false AkLSp, s R 83y 4) Aisfalse, but R is true
A 859,520 Reasyy
Observe the pedigree given'in the diagram and choose the correct answer
5608 SrHadd PEAUB0FHEB0) DSBa K00, OGBS JIrErSSn JBNE B0

O

mioe O

1) Parents are homozygous recessive BYB0(EOFB DoThurfe: woBYEo
2) Parents are homozygous dominant EYBoEODELD Dd%ochore: 8PP0
3) Parents are heterozygous BYB0(EHDHBH i GBrfessioo

4) The trait is holandric SPerol@E oFeso

Identify the set of poultry diseases which cause respiratory disorders among poultry birds
§‘SQ;) 5’36@’:5068 §s§;) av‘ségs-a’ KYo206 esa’)?ga’)“%)ozéo Eeni{Sasn ENASISE) 19805050

1) New castle disease, Fowlcholera, Aflatoxicosis 26?59585 56, §S§Q Sooe, e éré‘ggs?oﬁ

2) Gomboro, Aspergillosis, CRD 5058 5B, a@g@;&%, (E°5 D000 56
3) Marek’s disease, Infectious coryza, Monilliasis 788 a256, a8E)30 &8, F0IQA5TRR

4) Ranikhet, Brooder’s pneumonia, Roup disease ©°08¢5, (e0t56 Koog 35008, 8700 &350
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Match the following (808 QD 268 HBIBoHdw

List-I 5638 I List-1I H38 Il

A)ECG 1) Tracing the blocks in blood vessels

85w DBBHG) Ko HBoSerds

B) ELISA 2) Detect tumour of brain

D08 ES EBBOD $HB0SErE

C) MRI 3) Pregnancy test  Ho%Q) dosboT HBE

D) DSA 4) Abnormalities of heart functions

08 $ATD G506t eJegrores o“aﬁfge‘éoe:v:éa 8ok

A B C D A B C D
) 4 3 1 2 2) 3 4 1 2
3 3 4 2 1 4H 4 3 2 1

Population A has 1000 individuals, 200 individuals are isolated and enter a new geographical
region where they are previovsly not present and got adapted as population B. After few
generations it was observed that the off spring descended from populationB resemble their
parents but not the population A. This indicates the concept of

A 5 a33egrs® 1000 £He Ko oo Hod 200 £Hen DSESE VO, I6°E FRUIE (1808
3800 B asrgrme 3008330, 5 Sore Suxd el KodHhodH HHoSm, JIES
20035 B agocg™ Hood fDo’“)c"Z' S SoE8 SN asgiold I°0 6D s°,
A a20gr8® DK S, 20 BIY $rDK00

1) Hardy—weinberg equilibrium &8 - OS «§ $ozR8 2) Genetic drift ZIS8 &

3) Gene flow a3 (a0 4) Genetic load 2305 gPB0

PHYSICS

81.

82.

83.

Cv
Units of pT are of (where C =/capacitance, V = Potential p =Specific resistance and
0
€y = permittivity of free space)
C-3ade, V= 5"520“1&05, p =228 D68¢s 5w, €)= "So‘)ag)oéo"@'én BoE) 5B O3 oS
CcVv
g BoE) (HSoees7e0.
1) Charge BREH0 2) Current Do
3) Time LIS 4) Frequency CUOORIENY
Two constant forces F; =2i—3j + 3k (N) and F, =i+ j—2Kk (N) act on a body and displace it
from the position r; =i+ 2j -2k (m) to the position r, = 7i + 10j + Sk (m) what is the work done
B0 JB weren Fy =2i-3j+ 3k (N) o0ds» F, =i+ j-2k (N) &8 3593 o8 O 32 oD
r;=i+2j-2k (m)$o& r,=7i+10j+ 5k (m) % 3;26@;{0%0 325 8OAS H
1)91J 2)411] 3)-31J 4)161]
Ratio of minimum Kinetic energies of two projectiles of same mass is 4 : 1. The ratio of
maximum heights attained by them is also 4 : 1 the ratio of their ranges would be
2.8 ($550°8 o Boh ($EHse EJY #8= dHe Y 4:1, 28 BwE) K0Y e JHY
4:1 o0l a7 e Y
1)16:1 2)4:1 3)8:1 4)2:1
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A force of SN acts on a body of mass Skg at rest for 1sec and gives momentum p and Kinetic
energy E. If the same force accelerates the same body through 1m. The momentum and
Energy attained are P| and E respectively . Which of the following relation is correct

5N podn dHERBS® dwF) Skg SuH Drd Isec $ITD o8 p (BX5BeRY E (8238
oS0, ©F Do ©F SNHH 10r SrESn SPBESID Fasne So o (WS5Biiso P,
8238 E, ©o0nl3d. S(Bod adS® b H0FBoSd

1)P>P,,E>E, 2)P<P,E<E! 3)P>Pl E<E! 4)P <Pl E>E!

A 2kg shot is fired from a cannon of mass 198 kg with a velocity 50ms™! w.r.t the gun. Then
the velocity of recoil of the gun is

198 kg ($550°8 e Har8 S0l 2 B0 H06 S8 S8ore S0ms™ 3508 DS, S8

BoE) IHELH 50895 JK0 ...oeeeeenn.

1)0.5ms™! 2)0.1ms! 3)0.25 ms™! 4)1 ms?

Force acting on a particle moving in straight line varies with velocity of the'particle as F = V&
Where k is constant. The work done by this force in time “t” is

XEE0 o“wv(goe'is Eend) Swop HAB B0 DOHD IS0’ (Bod SFHH SAeESwo (HEPEED

k
SeBo&He F= V2 (k %5@’3). “t” spe06° Dodn IDINHD

k
D St 2) 2 kt 3) kt 4) —

A particle moves on a rough horizontal ground-with some initial velocity V.If @3—1[@ of its

Kinetic energy is lost due to friction in\time t,. Then coefficient of friction between the
particles and the ground is

2.8 Smo 89 3o V& (5588 350088 oo Eendidd. t)scoos® $oG g S0

3
oo Ké’éasééé‘ 1 Do :6?&5350»:6&. Begrd8, S8 K»q% o éoé‘q 308850

Vo Vo 3V, 3Vy
) 29t, 2) 49t 3) 49t, 4) gty

AB
Awire of length '/' and mass ‘m’is bent in the form of a rectangle ABCD with BC =2.The

moment of inertia of this wire frame about the side BC is

AB
I'&rEH, ‘m ($S50°8 Ko &% —< BC

ghadn HSore & Seo Do) 268 (e0ES0

=2 oHdén ABCD 5&5» SBE|rse808® Sozeds. BC

2) 8 e 3) WL 4) AL

D 252 252 203 136 162
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Abody of radius 'R' and mass 'm' is rolling horizontally without slipping with speed V. It then

2

3V
rolls up a hill to a maximum height h= E . The body might be a

'm' (B3g0°3 'R’ a5°§:3°(32>’m Ko 32 V 308’ 88 SSrodBormr erddone (A ST ARTAR

2
3V
SBoaes ol K&‘g 2 h= 4—9 G088 & 5D
1) solid sphere FOTTAR-ANo 2) hollow sphere CAROVTAR-P0
3)disc &y 4)ring Bord

The magnitude of potential energy per unit mass of the objects at the surface of earth is
'E'.Then the escape velocity of the object is

g A SN Do) (HAores (B50°38 %8&%_%0 5B 'E'. 5959 By erand St

) J2E 2) 4E2 3 VE A

Maximum velocity in SHM is V . The average velocity during motion from one extreme
point to the other extreme point will be

B.50.3. & 185 SKS0 V, . a8 D50 5008 BokS DBEE EBIensdS® 5505 Bos)
%0060 SIKSn

T

2 4
D) 5V 2) =V 3) Vo 4 %4V

The strain stress curves of three wires of different materials are shown in the figure P,Q, R
are the elestic limits of the wires. The figure show that

3% 3% a’amga’mo3 SoHholS St \BKe Do) JE)B, (HBoS0 ([PRO (HF) Seost
Sr5085. P,Q, Rosd &Ko D) %8 agéé N0 ©oNS He0 SFPDoHHIG

1) Elasticity of wire P is maximum
P &K @) 28 JHss Boh50 A P
e RC % o
2) Elasticity of wire Q isfmaximum
Q 815 %) B FHEY HOH Strain .
3) Elasticity of wité'R is minimum 58
R 8 @) @8 88 82%0 0 Stress
4) Elasticityofwire P is minimum @80
P&15\ T8 2BPHES 8K
[ [} €

Y

A wooden stick 2m long is floating on the surface of water. The surface tension of water is
0.07 N/m by putting soap solution on one side of the stick the surface tension is reduced to
0.06N/m. The net force on the stick will be

2 oo PED Ko 3L 88 e3 oo s SendBB. e3 Bod3gd 0.07 N/m. 585 a8 3

dog) DB HoSe Hos Sodsss 0.06N/m & SASE. SE Hrd SIBBY) $O 0B
1)0.07N 2)0.06 N 3)0.01 N 4)0.02 N

A wooden cube floating in water supports a mass m = (0.2 kg on its top. When the mass is
removed the cube rises by 2cm the side of the cube is

DS DS Bendod) a8 Fo550 oo Sopd m=0.2 kg 8. (v ($550°8 FBoSS)B. (($550°3

EoN0DS o350 2 0. 8 BIIH. Foddn By Fhwdn KD

1)6cm 2)12cm 3)8cm 4)10 cm
>21 <
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Two uniform rods A and B of same diameter having length 2m and 3m and having mass per
unit length 4kg m~! and 6 kg m~! respectively are joined end to end. The position of centre of
mass of combined rod from the free end of A is

Bok D588 Edeo ABA0 Bas argios £0A 2m 0050 3m P EHer Sondn. (Hire
PH8 R (SSgordoen $Bse kg m! 58050 6 kgm ! & S0 asTd DSE HBBE

71
oo (BBS® EDDH A Boo¥) g7y DG H0& B KoBeK ($550°8 Bolo sr8o 1) P

26 41 36
z)ﬁm 3)£m 4)Zm

If the length of a cylender on heating increase by 2% the area of its base will increase by
BprQ) I8 Sosne Fod TR FED 2% DOAIE. eGEHn Bk JTegEd® WS
1)0.5% 2)2% 3)1% 4)4.%

If pressure and temperature of an ideal gas is doubled and volume is halved the number of
molecules of the gas

e—sCSES,g JPANY DoY) 585, é%ﬁ@fé:& Be?aoé) 3, FodH0eesed)) B é@oﬂ):é J°O50

€LY K>oa)§
1) remain constant Evotetod 2) becomehalf D500k

3)become twotimes  Bob Bep DdEod 4)become fourtimes  Teenid By BHE0H

A 10 KW drilling machine is used to drill a bore in a small aluminium block of mass 8kg. How
much is the rise of temperature of the block in'2.5 minutes assuming 50% of the power is
used up in heating the machine itself andiremaining is lost to the surroundings (Specific heat
of aluminium is 0.9 J gm~1 K1)

REEAS (E5550°8 Ko eersoAaON &26)&68 Bolgod o8 10 KW o QS oE0l56.
[ (3":536‘;5)?30938 50% G500 IEHEIE HOWH DADID BBIT oS IS 350w
2.5950ared® 8y SFPFHSE® 1SS ........ (9ors0dcHS d8Pgo 0.9 J gm~! K1)
1)920C 2) 104°C 3) 77°C 4)122°C

The temperatiire of hot and cold end of a 20cm long rod in thermal steady state are at 1000 C
and 200 C respectively. Temperature at the centre of the rod is

20 20:» FEH Ko & & SHeYdS® HH)Npth oo I8, Jpd O5Bo B¢ GPiSen
580100 C, 58050 20° C. eons E& He5y Docoxh $¢ P
1)500C 2)600C 3)400C 4)300C

Two black metallic spheres of radius 4m at 2000K and 1m at 4000K will have ratio of rate
energy radiation as

4m g0 #49A 2000K 3¢5, Sodcsn 1m argedo #OA 4000K. $¢ Ko £ S*Se) RPere €8
D88e Bewo AP
1:1 2)4:1 3)1:4 4)2:1
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If a light ray incident on one of the faces of the prism of refractive index 1.414 with grazing
incidence and after refraction the emergent ray just grazes the second surface of the prism,
then the angle of deviation is

1.414 K)Léa;)’a’):é o Ko a’aegéof.z 5°08 880 I é(_éap’a’):é S0 Joald H8500w,
BoS SIS Seo Jond DG SH0GBog. ond DB &m0
1)00 2)900 3) 309 4) 450

A thin glass lens of refractive index 1.5 has optical power of — 5D in air. Its optical power in a
liquid medium with refracive index 1.6 will be

1.5 S8F53 Hrsin fo Heodd e SoEZD B8 G PG5 MOS - 5D woni
1.6 S BYSS fomssn Ko [BIRrEE0S® B )5 w5

8 5
1)25D 2)-25D 3)cD 4) 50

Which of the following can not be polarised %808 J&° GHPHeasn BSOS SBorren
1) Radio waves BER> SBorren 2) Ultraviolet rays 08de s 8o

3) Infrared rays Soedoes 8Begeen 4) Ultrasonic waves 8GR SBorren

A short bar magnet is kept along the magnetic meridian,with its north pole pointing north.
A neutral point is located at a distance ‘d’ from the, centre. The ratio of net magnetic

inductions at a distance % and 2d from the centre of the magnet on the equitorial line is

2.8 $0GeaIMoa~R)) wahIod aSgIrsEd O BIS® ood &8 HvEw &8 B 3D
GO0 Yoo, esdob"&oéa’m BoE) 0G5 008 éeaé Do) ‘d’ SrSost DJB. G
©0oD 8332.3 @J(ﬁo@"&oé 0G5 Doy Hod %,Zd Br80e® Ko DoHHe égg 5O @(ﬁa‘%"&oé

(8wo JF

1)1:4 2)4 41 3)8:1 4)1:8

In the following circuit SQ resistor develops 45J/s due to current flowing through it. The
power developed across 12 resistor is

(Bod Sedshos® DS, (Haeseo Hos 5Q Q88¢sos® 2o a0 45J/s ons 120 88 o’

230050 é.,:go iy 90 60
16w

12Q
2) 192, W o>
3) 36 "
4) 64 W s

Correct increasing order of susceptibility of magnetic material is

@(ﬁob‘?’oé o“amcg © (f)’oaégy K)-B’éé PNBII @680"5°wL§o“a)o

1) Dia, Ferro, Para BESse, DE°, Froe 2) Dia, Para, Ferro B, roe, (6t
3) Ferro, Para, Dia 8, oe, ade 4) Para, Dia, Ferro Foe, Eoke, (6t
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An electron travelling from infinity with velocity “V” into an electric field due to two station-
ary electrons separated by a distance 2m. If it comes to rest when it reaches the midpoint of
the line joining the stationary electrons the inital velocity “V” of the electron is

2 oo BrSoes® X)) Bod 8)01’:50%868 DY) Voo ol DEYES X)do§§ é@oés(‘()é, a8
Do@;:éa ©5080 o0& V 308 IBNBHHD. & ‘DoLs;:So, 3@6}%868 DY ae)@;:éaozéa 50
B Sgsy Dot JBIHped oo JBE HNIB. oS JolTH DoY) &9 JrfLn “V”
Dend

1) 16 ms™! 2)32ms! 3)16 /2 ms™! 4)32 /2 ms™!

Two identical capacitors are connected in series. charge on each capacitor is q. A dielectric
slab is now introduced between the plates of one of the capacitors so as to fill the gap the
battery remaining connected. The charge in each capacitor will now be

Boh Hog BArdwbed (BBS® Jogrdo JdTG. wEYY) BAdOG I wIIE q) 28
BrROE Sofe g g8 soa® pde Jod DFore Sigsevomedd H&asn argtd Sogrso
o HHB. BEPE 2.5 BardLED Ko e3ddw

29, Yo
D 1 2) 1 3) ﬂ 4) Y%
I+ I+ 1+k 1+k

V —1 graphs for parallel and series combination of twe identical resistors are as shown in
figure. Which graph represents parallel combination

BP0, Lé%ﬁ Yogrde Bo 606520550"’@ V-1(°D $506° SrHadS0. HYSt AP

D088 Hogrard) 88)0150326_000& A .

HA 2)B v A
3) A and B both A, Beb Boid -
4) Neither A nor B ALB en Both 50t |

A thermocouple of two thermal junctions and a low resistance galvanometer all in series. The
galvanometer has a resistance of '8(Q2' and the rest of the circuit has a resistance of '1.6 QQ'.
The thermo couple develops an emf of '10pV' per degree celsius difference of temperature
between théjunctions. When one junction is kept at 0°C and the other in a molten metal, the
galvanometer reads 8mv. The temperature of the molten metal is (Assume that the emf var-

ies lineraly with the temperature difference)

%gcﬁw?{&a’mésﬁ Bo I& Hocsren H50005» ééo&a’) Q6% S e (Pen‘smﬁ)oveaéo D @5565
Eod). mogTraredd I68En '8Q' $08cn F0chos difer JI6%¢Hn 1.6 Q' Bob Soghe
DGy 1 DY)oHS e ee F o8 Y Bodd J.ae.o '10uV' 2.8 508 0°C DG oBB0E
206 EOAADY) S50t 0DSHE 5’39)60 Jod J.ae.@ 8mv EDAASDY) SE5oSw (Baoéz,
P (.70 edPfee FEHws® Bdabore Hrdb)

1) 9500C 2) 960°C 3) 9400C 4)970°C
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The ratio of magnetic field at the centre of a current carrying circular coil to its magnetic
moment is Xx. If the current, radius both are doubled the new ratio will become

DS B0BHHY) H)Ees8 S HE BolBo H& VB)E ©cHIoE FE°8, T ©dId
EroseR8 Ko AP x. B More [HHI0T DB, ool JIeoER) Do JdS ©
Bodod gy o IS

X X
1)2x 2) 4x 3 4) 5

A squre loop of side 'a' lying in a perpendicular magnetic field to its plane is changed to a
circle. If change occurs in 't' seconds in magnetic field B telsa, the induced emf is

'a' gHadn Ko SB[ HBHG0 oo echa)od EB505% ooorr Hod e QB EeES0Ne
$ODTB. wahHIod GBS0 B telsa, 't' sec 08° B8y $04/D0DS (208 D.3%.»

| 4 Ba Ba? ; Ba2D4_1D o
[ )¢ BB &

A closed organ pipe and an open organ pipe of same length producé 2 beats when they are set
into vibrations simultaneously in their fundamental mode. Thelength of open organ pipe is
halved and of closed organ pipe is doubled the number of beats produced will be

28 PEDH DY) SorJANY) BTH PR, BEAANY) ST PO QB0 (e s dast
E0D0% IS 2 EISNSI N "06“)&262{). ZTe AN 6':90(‘)’26) DY LD 38 égoﬁ), 0edI
s PD B o) 325 "D(S“)é AomrTre Sogy

1)8 2)7 3)4 4)2

speed of sound wave is V. If a reflector moves towards a stationary emitting waves of fre-
quency “f” with speed “U”. The frequency of reflected wave will be

G SBorSdD BoE) S50 V. “f7? 2)”26.‘:?’.9):6933’»36% u%cs;)éa’))é)éoé& Qosdmr &J) =380 D
DoedeESID “U”. 508t E50enEHHB. HoPHES SBorHIn B 2)"26:(9)26&5&)

V-u
V+u

V+u
V-u

V- V-
1) o f vl 3) v f 4

Assertion (A) : Theshort wave length limit of X - rays emitted by an X - ray tube in inversely

proportinal to the accelerating voltage

X - 88 ao¥os® DHBeBod X - 88emre EAY SSoif g DG 6‘56%%6
58§38§ DS S LIS 0 Hoenod.

Reason (R) : The characterstic X - ray spectum depends upon the nature of the target
odogesn X - 88 écﬁea:m eJ°§é5 BnE) Begrsn el BEEEHES00
1) Both A and R are true, and R is correct explanation of A
A $080%» R ew o‘iaw"gaéaa, 800 R e9058 A & 580510 Dd8es
2) Both A and R are true, and R is not the correct explanation of A
A $080%» Rew o‘éaaf’gaéaa, 520 R 09086 A & 3806550 DH8easotd
3)Ais true but R is false A 558 oﬁamg?fo 8, R AHTYED S

4) Ais false but R is true A 0558 ohorgEn s, =9 R CHTG5w
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Let K, be the maximum kinetic energy of photoelectrons emitted by light of wavelength A
and K, is the corresponding maximum Kinetic energy to wavelength A, if A, = 2, then

A 880K BEgSw Ko 5708 Hod JBEBS s°08 oo A0y A8xds K, Hdd»
K, 5038 L) 8808805508 So200DS 0y Ada 48, A =21, @00
1) 2K, =K, 2) K, =2K, 3)K, <K,/2 4) K, > 2K,

Number of nuclei of a radioactive substance at time t = 0 are 1000 and 900 at time t =
2sec. Then number of nuclei at time t =4 sec will be

6&(30°Q'°6&§ a’amgoé‘sm BolSsee Sogg t=035¢ 1000 o8aso t=2sec 3¢ 900. t = 4sec 3¢
_éo@Ss"eJ ﬁosp?s

1) 800 2) 810 3) 790 4) 700

When an L-R combination is connected in series with 12V - S0Hz supply, acurrent of 0.5A

T
flows through the combination. The current differs in phase from applié¢d voltage by 3 rad.

Then resistance is

L-R $00550 12V - 50Hz onsS% (BBS° 602558 0.5A DB B(DIODHIB. ©HBYosaES

SPa5% HOBD DigEIS Hogfs ST FSw grad o AEFED ... ?

1)24Q 2)12Q 3)6Q H3Q

In common - emitter configuration transistor amplifier the load resistance of the out put cir-
cuit is 1000 times the resistance of the input¢ircuitif o = 0.98 then voltage gain is

638 ey DD (&rR6 a’)éoé)'s Y0 D050 Do) 8w IFE Sodhdn BE)
26°GeA8 1000 By, o = 0.98 wonS G2 H)B.

1)49 2) 980 3) 4900 4) 49000
Band width of an optical fiber is )35 BodH BoE) w°50E Ien)

1) more than 100 GHz ( J00'GHz 859 985 2) Few KHz &) KHz

3) Less than ImHz ImHz 8% 8595 4) Less than 1GHz 1GHz 857 &85

CHEMISTRY

121.

122.

Londondispersion forces observed in

& 180H 2 Sargo Sok ©0iS IEHw derodd K)B%é’)o:ﬁa’)zﬁoj&.

1) Hydrochloric acid rEtsteseso 2)Benzene BoRS

3) Sodium chloride in water Q&¢® ¥F&csho &BE 4) Ammonia + water 03P + DS

A molecule has two lone pairs and two bond pairs on it's central atom. According to VSEPR
theory the shape of the molecule is

a8 edSos BolEs DEIrenP P VO 2,000, Doy doGoben o) @ond VSEPR
fbm‘goéo (Bse80o o s5)®

1) Angular sdaho 2) Pyramidal 2EES

3) T —shape T- e58 4) Tetrahedral Sydabo
> 26 <
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If the shortest wave length in Lyman series of hydrogen spectrum is x. Then the longest wave
length in paschen series of He" is.

TS $EHe0 S0tk S (IBS® wdge) $EorGEso xewond. He' 5080 o84S (386
@é?gaé ééoﬁggago.

| o 36 ) 36 5 5
) 5 ) 5 ) 7 ) 9
Conc Conc
C|2/ FeCI3 - A HN03+H2804 -5
@) Conc  Conc
124. O HNOg+ H,SO, c Cl,/ FeCly .
<60°C -
In this B and D respectively are D o880 S0 B 508050'D en SBoSme
Cl Cl
Cl/ Cl/
1) and @\ 2) @\ and
NO, NO5

125.

126.

NO, NO,

Cl ¢ Cl/ NG
N H
3) @( O and @ 4) ©/803 and @
o,N NO, o

Ksp values of AgBr, AgCI, Agl are 5 x 10713 M2 2 x 10710 M2, 8 x 10717 M2 respectively.
Then the order of solubilities'are

AgBr, AgCl, Agl Bnd)/Ksp denden S0 , 5 x 10713 M2, 2 x 10710 M2, 8 x 10717 M2
ond 06 ($SBdher, [Eosn

1) AgCl>AgBr>Agl 2)Agl>AgBr>AgCl
3)AgCl>Agl>AgBr 4)Agl>AgCl>AgBr
Two'particles 'A' and 'B' are in motion. If the wavelength associated with particle 'A' is

5 x 10~8m. Then the wave length associated with the particle 'B' having momentum half that
of A.

Sedos® &) Adas» B Eeros® wo B @é§3?§o Eea0 A@Sé?g?;ﬁoés Jfo HdAdw Swo A
E8ongdso S x 103m ®ons Swo B E8orggso.

H5%x108m 2)107m 3)107m 4)6x1034m
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Roasting is generally carried out in the case of
ggSo (Roasting) Jegrdmon dGréHed By8o.
1) Oxide ores 8 6 rébden 2) Sulphide ores K@ﬁ PreODen
3) Silicate ores 205 e Hen 4) Carbonate ores SBHRES Graden

When 50g of a sample of sulphur was burnt in air, 4% of sample left over. Calculate the
volume of air required at STP contains 21% of oxygen by volume for this combustion

50g 6035263 mOS® HoloSme 4% STg 2808 DADIB. ©ond & SIS ST P3O,
21% o8)xs SOAS md $o3H0sewo STP ég D0es?

1) 160 lit 1609 2)3201it 3209
3) 80 lit 809 4) 420 lit 4209
Which of the following two are isostructural (808 a°&® 338 SoJoYeren G0k
1) XeF,.1;~ 2)NH,,BF, 3) CO4%7,S04%" 4)PCl,,ICI;
Match the following &3 (808 &I 2&HBISHSD

Set -1 Set —I1
A) 10 vol 1) Perhydrol DEPES
B) 20 vol 2)5.358 N
C) 30 vol 3)1.785 M
D) 100 vol 4) 3.03% (w/v)
The correct match is J0@BoS 288
1)A-4,B-3,C-2,D-1 2)A-1,B-2,C-3,D-4
3)A-1,B-3,C-2,D=4 4)A-1,B-2,C-3,D-1
Identify the correet statements DOF@oS Igpgen Moosod

I) Clay minerals are used for Absorbing chemicals
BJrcimred SoSerdd o8l gréen K
ID) SiC/, mixed with NH; is used in warfare for the production of smoke screen

SiCl, $:8d5n» NHz o Do(ESrR) dSnmpe Soth &°F d8enr arEers
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R R

I |
- —S—0—35— .
III) In organo silicones | | linkages are present
R R
n

R R

| |

S—O0—Si—

Q—SS(ES 29885 ©o0H [ | DOGTe GOEIPOD

R R

n

IV) When washing soda is heated with SiO, at high temperature produces Na,SiO;.
aQoh Aeed Si0, &8 wh¥ eP S 3¢ 3& 323 Na,SiO; D)

1)OnlyI I Soo(e83% 2) [T and I only 11 5558 060 11T o035
3)IL, Il and IV only 1, 111 0805 1V &8 4) All are correct Q) VOGN
Dihedral bond angle in O,F, O,F, S0 g3(ES @04 S'wo

1)108°.18 2) 111930! 3)900. 12! 4)870. 36!

The gas responsible for global warming is &), EON0D FeasnHen
1)NO, 2) O4 3).CFC 4)All

In a ten liter vessel at 273°C 4g of He is present. If 4g H, is introduced in to the same vessel
under the same conditions the partialpressure of He would be

2730C 5 10 doog S 4rrsne He o oF 5830 3¢ 4rsve H)srdodHd of
PSS H50d55pE> He Bog) 38K d&So dod &oi.

1)2.24 atm 2.24 o067 2)4.48 atm 4.48 oty
3)3.36 atm 3:366¢7) 4)1.12 atm 1.12 ety

In a first order reaction A —> B if K is rate constant and initial concentration of reactant A
is 0.5 M then half life is

A —> B oo @3¢ as (Edoeod ?56?365 Béxo fgc"oéo K S08a5»0 A(Baaégy &°0 neeses 0.5 M eond
@565 @ng‘jé?g S°®0

: log 2 ) log2 ; In2 A 0.693
) ) KJO5 ) K ) 05K

Which of the following set of metals are posessing Face centered cubic arrengment
& 180D TS O HHwesie Seen HOEBoBE Hr$TIEH EDAGOLTOD.

1) Be,Mg 2) Na,K 3) Pd.Pt 4)P,,Tl
When BF; reacts with LiH the gaseous product formed is,

BF;& LiH st 335 SPoBodS Sl leSTASTEVLIoV SN 630&@’260

1) HF 2)F, 3) B,H¢ 4 H,
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138. Which of the following gives black precipitate in mustard oil reaction
Bod adS° 9B PR wond HOES® S eIFII0 JSYH0d
1) C,HsNH, 2) (C,H5),NH 3) CH;CONH, 4) (C,Hs)5N
139. 4—hydroxy — 4 — methyl pentan — 2 — one is formed when X reacts with Y is presence of Z
X Y& Zosogos® 585 b8, 4 - Toeed) - 4 - DFS DowdS - 2 - &5 DB

X Y Z
1) CH;CHO CH;CHO NaOH
2) (CH;),CO (CH;5),CO Ba(OH),
3) (CH5;),CO CH;CHO NaOH
4) CH,;CHO CH,;CHO HCI
140. Which of the following is/are incorrect 80d S 5850 B NS

i) Beryllium halides are covalent and hygroscopic
289050 S8 &Gen $SoBoeados ﬁo_'?b&@’as"e» By STeTevsy) ea[g;ééaé Sgaredo Hed
ii) The solubulity of halides of alkaline earth metals inereases down the group
8588 S50 HPBE (EoSBAHE ((1rHE® P, %69 BoBH DS
iii) Ultramarines are coloured compounds, théy are:alumino silicates and contain water
es[p;ﬁo@ﬁe» Boi Ko 63061%‘6"03, @D De3D EOAEGS) @w?sx)ass&‘é)_éége»
iv) NaNO, can oxidise urea to nitrogen gas in acidic medium
NaNO, cSodasri S|EtaSmrasysgos® eb)gsno Sasnis
1)iii only 11D 2)iiand iii only i1 £o8a%o 1ii Soo|gad
3)iii and iv only {16080k ivsm@a>  4)iandivonly i 508050 iV So&ad
141. Assertion (A) :ONC/; hydrolyses easily
NCI; zo d3ke Boido
Reason. (R)  : Electronegativity of Nitrogen and Chlorine are same
SE°aS ane JFerE)Es 558355 SHeSo
1) Both A and R are true, and R is correct explanation of A
A 50000 R e ahmrgio, 0o R @kt A & 906 Hiden
2) Both A and R are true, and R is not the correct explanation of A
A 58050 R en chmrgin, 570 R 0kde A & 0065 diibaseth
3) Ais true but R is false A 9586 dﬁxygéa =, R TG0 S

4)Ais false but R is true A 95056 oﬁaméiﬁw =%, =08 R oﬁamgzﬁw
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142. Compounds obtained when bleaching powder is decomposed inpresence of cobalt chloride

DDoh K6 gbarg §'BE $0gos® DBrifo JoBoDS ) SIyFIeen

1) Ca(ClO5),. CaCl,  2) CaCl,. O, 3) CaCO,, C1, 4) Ca(CIOy),, CaCO,
143. Glucose does not react with ApS*E S8od AS® TS S5 wsHE
1) CH NHNH, 2) NH,OH 3) HCN 4) NaHSO,

144. Which of the following statements are correct & (80d Q&% $BS aegEge0
I) Cationic polymerisation initiators are A/CL;, SnCl,
5oerdsrE POHOEEen (B0 scen AICL;, SnCl,
IT) Anionic polymerisation initiators are R — Li,KNH,
oI5 FOHBEEe (@Eogfscen R —Li,KNH,
III) Percentage of sulphur in abonite is 60% — 65%
SIS 60% — 65% B85 S8 God.
IV) 1,4 — Linkages of natural rubber was determined by 0zonolysis experment.
Sradab S0 1,4 —pomrodH LE508 (BBrde JeBoSaEIR.
1) All are correct @) ¥BBD )T &A1 only [ & 11 S8
3) ILII & IV only ILIIT & IV o3 4) LI & IV only LII & IV Sl
145. The complex Fe(CO), follows EAN rule, then the value of x is
Fe(CO), %o8Ho EAN Qo5odrR) 353 085, eons x Dend
1)2 2)3 3)4 4)5

146. The freezing point of waterisdepressed by 0.037°C in a 0.01M NaC/ solution. The freezing
point of 0.02M solution of sticrose in °C is

0.01M NaCl (o560 D& 5008555 :3;:6 Q5 0.037°C. eond 0.02M H(EE (oobwo
DBoE), 5095 ‘3;:60 BRI 0C os®

1)-0.0370 2)—-0.0185 3)—0.0740 4)—0.185
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Preparation of cyclohexane by wislicenus method is represented as follows

DRI 5D aogoe REWHYS a5 (Bod Do SrYowedd

A didtillation . B Na/EtOH . C H p Zn+HCI \C6H12WhatareA,B,C&
D respectively

'5:0‘365:60

Na/EtOH . ¢ _HI . p _Zn+HCI , CcHy,

eond A, B, C & D en 38035
1) Calcium heptanedioate, cyclonexanol, cyclohexanone, lodocyclohexane
SHI0 TPPSFELErED, RETESS, ETESTT & 0&Trs® 28TE)S
2) Calcium heptanedioate, cyclohexanone, Cyclohexanol, lodocyclohexane
000 RS § L@, RETESS, REETSE & o@re® PETEHS
3) Calciumhexanedioate, Cyclohexanone, Cyclohexanol, lodicyclohexane
SHUD0 BN B L@, PE TS, PEDHTS & w@rE RE TGS
4) Calciumhexanedioate, Cyclohexanol, Cyclohexanone, lodocyelohexane
SO Iho BN B L@, PEETS, 2EBETT edre’ 288385
The equation for Langmuir adsorption isothesm

erohHurE Bog) $IeYP e Bage &80

Dlog = =1 K+11 p 21—E
)Ogm—og ; log )m—a
31_ aP 41_ KP
)m_1+bP )m_1+bP

The enthalpy of formation of N,O and NO are 82 and 90 KJ/mol. The enthalpy of reaction
2N20(g) + Oz(g) - 4N0(g) is

N,0 %8350 NO o @) $ogus’pen 82 H80 90 8 & / IS, eond 2N,0,) + 0y,
- 4N0(g) Do) 655?32{%0

1) 8KJ 2) 16 KJ 3) 88 KJ 4) 196 KJ

Equimolar concentration of H, and I, are heated to equilibrium in a 2 lit flask, at equilibrium
the rate constants of forward and backward reactions are equal. What is the % of initial
concentration of H, reacted at equilibrium

2D PR % Brerd EE o H, 5H00» I, 0 I& I38. S8 HG 885w,
FOTOM 134N Sovg ?govos*’en J¥Srb0. @ond éa’)o@%é’é ¢ el odS H, Bog) (8ol ¢S
IS0 Do

1)33% 2) 66 % 3)50 % 4) 40 %

> 32 <
www.eenadupratibha.net



www.eenadupratibha.net

151. Choose the correct statements 80D St DBI@S g

i) Ozone is diamagnetic molecule 5,858 cSrXri)e3E wend
ii) Ozone decolourises organic colouring matter by reduction

8558 o Ko 8 :630&@’@0263 gohE8mo aogoe ANGo F50d0
iii) Hypo reacts with Cl,(moist) giving NaCl, S, HC/, SO,
8 S5 LOAS Clzé8 385 &rod NaCl, S, HCI, SO, o 135y
iv) S reacts with F, to give SF
Send F, & 385 o SF e 2o
1)ionly i Soo( 30 2)iand iv only
3)i,iiand iv only i,1i So8osw ivEmE$so  4)All are correct

15080 iv Eﬁr@éfm
Q) DOFD NS

152. Consider the following representations
& (BoB Sraren Jt38 oo
CH3 CH3
H ‘ Br E H
F Br
They are
1) Enantiomers DR Teenben 2)Diastereomers ddﬁ:ﬁ%@@?@?5w
3)Cis—Tranisomers 3% - (&]) 0RP00e)
4) Identical Botir &8 w8 s Jdrdo
153. The products in the following reaction
B3(Bod EIPAHI 1‘569368 (BaSmE o5
HI
(CH3)3C—O—CH3 +con ﬂ) products
e (ESraIrgen
CHg\C// CHy CHs\C*OH
1) | + CH;I 2) CHy | + CH;,I
CH3 CHs
3) (CH3);C-1+ CH;0H 4) (CH;);C-O-1+CH,
o Nz CHCOC HNQs - H0 .
154. Phenol ZnCl,3000C AOUODRFUOO B H,SO, C D. The compound D is
NH HNO H.O
002 CHLCOC!l  _po0E 27,
5SS AODOBTUM B cUUL Dago Dessn?
ZnCl,300°C H,S0, .
NH,
NH, NH, NHY cI—
e, 9 el e
NO, NO, SO, H
>33 <
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155. Match the following  &3(od °AJ 2858 0s
List-1 List-I1
1) MnO/300°C A) Preparation of acetaldehyde from
ethanoyl chloride
2GS oS §BE 08 RerYTEE Sa5rd
2) H,/Pd-BaSO, B) Hydration of Alkynes
o850 @RS
3) %:Ja ;82%+ C) Catalyst used in the preparation of
acetone from acetic acid
DS efo Ho& JDEES B+
é@o)if go
4) 1% HgSO,/ H,S0,60°C D) HydroxylationofAlkene
sd)So E§)BRS
E) HydrationofAlkenes
sdSOzoINn
The correct match is 2O 28 HEREIY
D1-C,2-E,3-A,4-D I(N+C,2-A,3-E4-B
3)1-A,2-C,3-B.4-E 4H1-B,2-E,3-C,4-A
156. 0.04 g of organic compound containing sulphur produces 0.233 g of BaSO, percentage of
sulphur in the compound is
560)5 EOADB0Y) 0.04 ((rdoen a8 S8)S é&&@’éa’m 0.233 (rdSweo BaSO, S 289)d.
e—s&’:3o&9’260e56 J30)6 BwE) @S0 ?
1)20 2)50 3)14 4) 80
157. The compound whose 0.1M solution has pH <7 are
0.1M e 588 (80d @ ([modwo pH <7 &0t
a) Potassium oxalate  Srér@ichHo «5)8¢5  b) Ammonium chloride e3»Jd%o §38&
¢) Ammonium sulphate ©3Jd%0 $8)¢5 d) Sodium acetate &0 IVEE
1)ab 2)a,d 3)a,b,d 4)b,c
158. Onelitre of IM CuSQO, solution is electrolysed. After passage of 2F of charge the molarity of

CuSO, will (Neglect the change in volume of solution)

2.8 H&8 1M CuSO, (@r5e) 2F 8337 es:5@rRod Dgs DFHe 31N SShard e [Eodwo
(Baoézy Swerded ((orde0 HoS 5050t $e80) HBOIEASL 5°0)

M M
H1M )~ 3 4) zero

>34 <
www.eenadupratibha.net



159.

160.

www.eenadupratibha.net

NH,

©

X+H,0 0196 Y

NaN02+H Cl
0-50c

X+Yg@h . Z

In the above sequence of reactions Z is

OH

1)@
3) Ho-@-N= N—@

Identify the correct statements

P $EBeres® Z 56

N,C/

2) @
HHN~O)-n-N~(3)

DOF@oS arggod MIBoBos

I) Chloramphenical is broadsectrum Antibiotic

IT) Omeprazole is antacid

I1I) Aspartame is an example of polypeptide

IV) Sulpha diazine is anti biotic
1)Iand Il only
3) I &IV only

[ 50805 1T S5
11 £:8050 IV S5(&5

2) L, IL, IIT only
4)1, I and IV only

>35<

5809 5°E (96 )G Jo3 0538
LSHEPS 09050 JoerdE

QIO 6 3°é')3)?§)25§o GOPSe8 e
Semy $aHdS 88 Jodl aBreE

I, I1, 11 &3

I, 11 58050 [V $e$
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EENADU - PRATIBHA

EAMCET GRAND TEST (MEDICAL)

BOTANY- KEY

1. 4 2.4 3.3 4.2 5.1 6.1 7.4 8.1 9.1
11.2 12, 2 13. 3 14. 3 15. 3 16. 4 17.3 18. 1 193
21.4 22. 4 23.2 24. 3 25.3 26. 4 27.3 28.3 29.4

31.2  32.2 33. 2 34. 3 35. 2 36. 2 37. 2 38..4 39.3

ZOOLOGY -KEY

41.1 42. 4 43. 4 44. 4 45. 3 46. 2 4701 48. 1 49. 3
51.1 52.1 53.1 54. 3 55.2 56. 4 57. 4 58. 4 59. 4
61.4 62.1 63. 1 64. 4 65. 4 66..2 67.3 68. 3 69. 4
71.1  72. 4 73.2 74. 1 75. 4 76. 3 77. 3 78. 4 79. 4

PHYSICS-KEY

81.2 82.1 83.2 84, 2 85.1 86. 3 87.1 88. 4 89.3
91.2 92.4 93. 4 94. 4 95.1 96. 4 97.2 98. 2 99. 2
101. 2 102.4 103. 4 104. 3 105. 2  106.2 107. 2 108. 1 109. 1

111. 4 112.3%,113. 2 114. 3 115. 2 116. 3 117. 2 118. 2 119. 4

CHEMISTRY-KEY
121.2 122.1 123. 2 124.1 1251 126.2 127.2 128.1  129.1
131.4 132.4 133.4 1342 1353 136.3 137.3 138.1  139.2
141.2 142.2 143.4 144.4 145.4 146.1 147.2 148.3  149.4

151.2 152.4 153.3 154.2 155.2  156. 4 157. 4 158. 4 159. 3

> 36 <
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10. 4
20. 3
30. 4

40. 2

60. 2
70. 2

80. 2

90. 1
100. 1
110. 2

120. 1

130. 1
140. 2
150. 1

160. 4



10.

11.

12.
13.
14.
15.

16.
17.

www.eenadupratibha.net

EENADU - PRATIBHA
EAMCET GRAND TEST (MEDICAL)

[ Hints and Solutions]

BOTANY

C.G.K. Ramanujam — Palynologist — Palynology. Aristotle — Father of Biology

1, 2, 3, are correct In radish Cotyledons but not root

In pistia roots are modified

In Eichhornia and Casuarina — Root, stem and leaves are modified

But in Artabotrys Peduncle is modified into a hook.

Persistent stipules are present in Lathyrus, Ipomoea and Smilax,

.. Deciduous stipules and gynoecium with free carpels are found in Michelia.

Specia type of inflorescence with bisexual, chlamydeous flewers is found in Leucas special type

of inflorescence with unisexual sessile flowers is found.in Eicus.

Axile placentation and superior ovary are not found #n the flowers mentioned above instead basal
placentation and inferior ovary are seen in them:

Equationa division without cytokinesis occurs initially in the functional megaspore of angiosperms.

Both dorsal and ventral sutures dehisce.~in Legume and loculicidal capsule.
The number of cohorts in the following ‘series
Thalamiflorae = 6; Calyciflorae =/5; Disciflorae = 4
Inferae = 3; Heteromerae = 3 ; Bicarpellatae = 4
outer four_successive whorls‘of/different genera belonging to liliaceae show either free condition

or united condition.

Qil is obtained fremithe’seeds of Gossypium and Detrris.

Oil obtained fromrthe seeds of Derris is used in the preparation of medicines.

Except plastids @l other organelles are involved in the synthesis of biomembranes.

A =7;7"%B = 10; C = 16; D:8

m — RNA is synthesized from antisense strand or code complement and not from code copy.

— Collocytes contain 60% of water in their cellwalls

— Parenchyma cell contains thin Peripheral layer of Cytoplasm

Cuticle and stomata are absent in the eipdermis of root.

The correct sequence of tissues from inside to outside after secondary growth is
—Cork

— Phellogen

— Secondary cortex

— Primary cortex

> 37 <
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Aloe is subjected to dryness externally only

— Zizyphus is subjected to dryness both externally and internally

— casuarina is subjected to dryness both externally and internally

— Tribulus is not at all subjected to dryness

Whitex white genotypes of parents should be gg x gg and not gg x Gg
2N—2 5 ue) i called nullisomic

(A) Spermatozoids of pteris are attaracted by Malic acid

(C) Spermatozoids of Funaria are attracted by Sucrose

Life cycle of Funaria is called haplodiplontic life cycle.

Filament of spirogyra and Hypha of Rhizopus show haploid nuclei.

Viruses do not remain alive outside the host as they are intracellular obligate parasites.

(B). Anthrax is caused by Bacillus anthracis which is rod shaped.

(C) Pneumonia is caused by Diplococcus Pneumoniae

Highly reduced archegonia are present in gymnosperms.

Matric factors decrease the total number of free moelcules of water and al'sorreduce the free energy

of water.
DCMU is a weedicide. It inhibits the transport of e from PS=I1 to PS —I.
The mechanism involved to get rid off excessive Ng* ions by salt resistant plants to outside through

Na*

their roots is antiport mechanism
H+

Substrate moelcules converted into products bysenzyme molecules (TON = 20) in 10 mts are 2400.

Number _of ecules partiCipéted is — 2 =
. umper or _enzyme molecules particlp. IS 20%10
light
2A + 2H20W>2AH2 +0,
acceptor chloroplasts

A and R are correct but R does not explain A.

Substrate level phospherylation occurs in 1,3 and 4 reactions. substrate level phosphorylation
does not occur in 2™ reaetion and it is a isomerisation reaction.

t — RNA does not participate in Transcription (1)

t — RNA participates in 11, 111 and IV.

The asexual~stage of Gibberellic Acid producing fungus namely Gibberella fuzi kuroi is Fusarium

moniliformae.

Nostoc can can fix N, (N = N) in symbotic association with Gunnera (stem glands) and Anthoceros
(Thallus)
The product immediately produced after the second cross during the synthesis of Triticum aestivum
contains ABD

3n = 3 genomes

3 x 7 = 21 chromosomes
Cytokinins and auxins are used in Tissue cutture to induce shoot and root formation respectively.
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The correct sequence of stages which are concerned with insertion of isolated gene into a vector is.
Il. Treating the bacteria cell with EDTA and lysozyme
l. Protoplasmic centrifugation

1. Cutting the plasmid , V. Ligation of plasmid with desired gene.
The “seed” material used for mushroom production is

Spawn (sterilized organic matter + small amount of mycelium of Agaricus.
(White button mushroom : Agaricus bisporus)

ZOOLOGY

(1) All sub species in a given species possess same ecological Niche and the ecological niche

represent the functional role of an organism.
(4) | As the Nervous system of Hydra lacks brain is of diffuse type, nerve impulse can travel in any
direction 11, 111-As per Text Book.
(4) First animals with Blood Vascuar system are Annelids, but first animals with true muscles are
Flat worms of platy helminthes.
(4) A) : Neomenia is aplacophoran and shell is absent

C) : Neoceratodus is Australian lung fish with only one Lung:
(3) The shell of heleozoan is made up of Silica
(2) Pyredoxin helps to produce antibodies but its defency ‘results hypochromic microcytic anaemia
The antibody production is not related to RBC production.
(1) Arthropods with paired gonopores are crustaceans and they possess antennae and antennules.
(1) Match the following type
(3) In simple Gyration movement, the flagellum of Englena turns like a screw.
(2) Plasmotomy is an asexua reproduction in opalina.
(1) All 4 statements are correct in aceordance with test book.
(2) In T. solium, vagina open in.is to oviduct, but not in to ootype.
(1) If a same prey is predated by many organisms, then, it is Gamma Link.
(3) In pheretima, excretory’ pores are Nephridiophose and they are present in all the segments
except first two anterior, segments.
(2) Pheretimasis.Negatively phototactic and the photoreceptors are characterised by L—shaped
Lens “Phaeosome” and the network of Nerve fibrillae.
(4) Ingeeockroach, the Mesenteron is made up of endodermal, smooth cells and hence protected by
peritropic membrane.
(4) In Honeybee, al the diploid individuals are not fertile as workers bee are sterile though they are
diploid.
(4) Mandibles, Elongated Galea and the Dutton’s membrane are not the parts in Mouth parts of
House Fly.
(4) The pyramid of Biomass is inverted as the dry weight of phytoplanktons is less than that of
zooplankton as they are microscopic.
(2) After replacement of one seral stage by other seral stage a community is established in stable
environment and it is “climax community”.
(4) Duck billed platypus possess mammary glands and hence it is a Mammal but it has cloaca

which indicate that it retain reptilian characters.
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(1) Dipnoians are lung Fishes and ratitae birds are flightless birds. But their distribution is not
continuous as they exist only in certain axeas.

(1) Antihaemarhagic vitamin is vit K. It helps coagulation, hence, it is not an anticoagulant. Vita-
mins does not provid any energy. Hence their intake when reduced does not control obesity.

(4) 97% haemoglobin saturation does not occur in systamic veins as they carry deoxygenated
blood. Central lobe is not the common lobe in lungs of rabbit.

(4) From Liver, hepatic veins carry blood to post caval veins then into Rt atrium where pulmonary
circulation starts and through left systamic, coeliac and hepatic arteries, it enters to liver again.
((2) Match the following as per text book

(3) The Functional unit of skelectal muscle is sarcomere, and it exist between two successive -Z-
lines. It has one complete A band and two halves of | band.

(3) Afal in B.P stimulate Renin release and finally Angiotensin Il is formed which reduces GFR.

(4) As per text book

(2) Placenta in rabbit is haemoendothelial as foetal blood capillaries float4n mothers blood and it is
allanto chorionic as allontonin attaches chorian for Vasculariation.

(1) As per text book diagram.

(4) In rabbit, 111, 1V, VI, XI, XII are motar cranial nerves;,Il"and VIII are sensor and the rest are
mixed.

(2) In Drosophila, Red eye colour is dominant_ andx—linked dominant and white eye colour is
recessive and x—linked recessive. Only dominant character is expressed in heterozygous condi-
tion but recessive character always expressed only in homozygous condition.

(1) SCID is caused due to a mutation.in,a gene that encode Adenosine Deaminase.

(4) Osteoblasts and Histocytes are 'hot the macrophages even the Monocytes, only after entering
the tissues from blood become M acrophages.

(3) Darwins Natural selection explain survival of Fittest, but not arrival of Fittest as it cannot
explain origin of variation.

(3) When parents are hamozygous domination or recessive, then all the progeny are of parental
type only. Heresboth parent and new type of progey are produced.

(4) Resporatory: disorders are seen in Ranikhet, Brooder’s pneumonia and Roup disease.

(4) Matchithe following as per text book.

(2) In"genetic drift, an isolate group of individuals from a popultion are grown in new habitat, the
resultant progey resemble with isolate group and not the original population.
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PHYSICS
81. Shall apply dimensiona formula for each physical quantity.

82. FR =E1+F2

=r2—n

o =(F.9)
1 02
KEm, M & 4 o0 2
83. KEm, 1 cosh, 1

1
Emuﬁ cos’ 6,

Hm, uisin®6,/2g 4 sing, 2

Hm, u’sin’0,/2g 1 sino, 1

R, u’sin’0, u’sin®,cosd, _

4
R, usin’0, u2sin®,coss, 1

22
11

84. In Case -L: v=u+at=0+§(1)=1m/s

p=mv=651) =5kgm/s

E:%mvz :%(5)(1)2 =5/2

In Case -2 : vZ—U?=2as
vV =2()()=>v=42
p'=5v2

e = (925 mis

Sp<pHE<E
85. I:)gun = F)bulle'(
(2)(50) =198(x)

= @ =05 m/s
198

86. W= F.S=§.Vt =Kt

3 1 -
87. ZthOf KE lost means 7 s remaining

1

KE!==KE

4
v =1.1|\/|v02
2 4'2
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90.

91.

92.

93.
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vi=Yo
2
vVi=u+a
Y
?"_v0+at0
Vv
a=—2=ug
2t,
u=_Yo
29t,
D iC
AB _
BC
AB=2BC
A B
L = 2AB + 2BC
=2AB + AB = 3AB
AB=1/3= CD
BC=AD=1/6

| about BC=1,,+ 1,5+ 15

1 2 2
—mv°+ > mr°=mgh
S+ g

Gm(1)
PE=—— /=
R
20m

Escape velocity R v2E

Vyo =AWSAZE 7o 214
Vm

2A  4A

Avavel = 4AV,, 2V,
- AVIVE S oA n
Youngs modules = stress / strain
roF
14

F=T¢ =001x2=0.02
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94.

95.

96.

97.

98.

99.

100.

101.

102.

103.
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Principal buoyancy

8 kg 18 kg
2m 3m
A B
. - 8(1)+18(2+25)
m 8+28

Approximation
y=x"
dy _ ndx

y X

_ P

n=
RT

=(p)(t)=msT

(100-6)t KA(6-20)t
10 10

= 6=60"

E=0T'A

4 2
E_[L)h) 1
E, (T,)l,) 1

1
When grazing } =<

KA

snC

1 1 1
ey
f R R
f, _a'g-1
f mfg-1

15-1
£1=— -5D 0.5x1.6 ., b5

16 e 8
Only transverse waves can be polarised.
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105.
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107.

108.

109.

110. T

111.
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In Case — 1:
B.-B, =8B, -B, =7B,
In Case — 2:

B B,

B, ——f=

8 8

Rati _8
|0—1

P, =i’R

45=i;5=i,=3 and 5Q||15Q

si,=4amp

i=i,+i,=1 amp

p=i’R=4%(12) =192 watt

Susceptibility increases as magnetic nature increases.

1ot 4%
2 4rne0 r
' =KC
. .V
In the graph tang with x—axis is i_: R

B 8x107®
10x10°
= 800°C
Thisisfor 80
for each one ohm AT = 100°C
for 1.6Q, DT = 160°C
.. Total temperature = 800 + 160
= 960°C
g bt
2r
M = niA
B Uk 1
M _2A
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Y
113. for closed pipe N, :E

v
for open pipe N, ==
2l
LYV
2 4

:>l:2:>v:8l
4
In Case (2)

\' \' vV V

2(1/12) 4(2) 1 8l

=217

1_V+V, N
V-V,
115. Conceptual

116 E—W+k
A

114. n

117. N=N,e™

900=10006"? = 2 — &),
10

in Case - 2
X =1000e™**

_ 1000] — || =
10/\10
= 810.
118. Resistant LR circuitvs \/g? + | 2\W?

where tanq)zﬂ
R
119, B= or 098
' 1-o0 1-0.98
pole

120. Conceptual
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CHEMISTRY

121. Due to short lived dipoles :, of motion of e around atoms.

X3
122. Y/ \
Y

123. Lyman (H) :-

1
"R
Paschen(He"): A, — max

A, 9 16 144
144
2" 20R

cl
nltratlon
NO,
Cl'=0 Pdlrectlng group
2
Fec:|3 cl (D)

—-NO, : m directing group:

125. Ksp = & (to AB type)
if ‘'S decreases; Ksp also decreases.

126. > 155 -
Mg\ 2 P
127. Sulphide over
128. wt. of ‘S burn=48¢gr. (50 -2)
S+0,— S0,
32 224
48 7?7 =336 lit.
ar:- 100 litar — 211it O,
? «3361it0,
= 160 lit
129. XF,, I3 ——linear
130. IV = 0.303% = 0.0893M = 0.1786 N
131.  (IV=Na,CO,+Si0, - Na,SiO, +CO,)
> 46 <
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133.

134.

135.

136.

137.

138.

139.
140.

141.
142.

143.
144.
145.

146.

147.
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87°.36’
109°.30’
0,, NO, NO, and CFC

_4RT  3x22.4x546
V. 273%10

P =13.44 am

P, = 13.44><% = 4.48 atm

K=t |1n02
t,, 025

In2
t,=—0
1/2 k

Pt and Pd
2BF, +6LiH—— B,H, +6LiF

1° amines gives black ppt of HgS.

Condensation of CH,COCH, in pressure‘of ‘Ba(OH), gives diacitone acohol.

(ii) solubility decreases
(iif) do not contain water.

Both statements are independently=correct.

2CaoCl, ——2CaCl, £ 0,

Though glucose is a Carboxyl it does not react with bisulphite.

(iii — % s in abonite 440 — 45)

2AN = [Z-0S«+ 2(X)]

36 = 26— 0= 2x

2x =10=x = 5.

0.01M NaCl —— 0.02M ions. so no. of particle in both solution are same.

CH,-CH,

CH, — CH,CO0 / AN Na/ac
/ \ distill CH2 C=0 ———>
CH Ca istillation \ /
2 —_—
AN / CH, —CH;
A CH,-CH,CO0 B

/CHZ—CHZ\

Zn + Hal
CH, —CH, CH, cH- 12
/ AN HI

CH, CH-OH——> CH, - CH;

c  CH.-CH;
> ()
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L . ation i x _ &P
ongmuir’s equation is m- 1+ DbP
AH =(4x90)—(2x86)
= 196 KJ
K, =K, K=1
2 Lit: 2 2
1Lit: 1 1
X X 2X
1-x) (1—~x) 2x
2
K = 4x :
(1-x)
1:2—X -~ 3x=1; x:E
1-x 3
1
.°.%=§><100=33.3

(ii — by oxidation)
(iii : Na,S,0, +Cl, + H,0—— Na,SO, + S+ 2HCI

They are one and the same
3 akyl group forms 3° halide

A = C,H,NH,
NH.CO.CH,
B=
NH.CO.CH,
C=
NO,
NH,
D=
NO,

1)  2CH,COOH—3—CH,COCH, (C)

2y CH,COOCI+H, > CH,CHO (A)

3)  H,C=CH,+PdCl, +H,0—222CH,CHO+Pd+2HCI (E)

0,
4y HC=CH+ HZOMCHCHO (B)
1% HgSO,
0 5= o2, O1Ba0, 4,
233 wt.comp
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160.
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due to cationic Hydrolysis.
NH,+H,0——>NH, +H,0"

Cu®? % Cu

so total Cy*? ion reduced to Cu.

L8

X +Y = coupling reaction.

Z= @NzN—@—OH

(iii :- artificial sweetner)
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